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Question Number : 1 Question Id : 8024371191 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0.5

Suppose a? + b? =4(a +3b-10), where a and b are two real
numbers. Then which of the following is true?

M g>p
2)a<b
B a=b

(4) From the above equation nothing can be said about the
relationship between a and b.
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T T a2 + b2 =4(a +3b-10), SIET a 4 b =T T+ T § |

e = § 7 w1 7o 22

(1) a>b
(2) a<b
(3) a=b
(4) STTE THIEIOT F a AT b & TEETNE q9d & T H 5y o

e
Al el T aFaT ¢ |

If the day after tomorrow is NOT Friday then which of the following
day CANNOT be the day before the day before yesterday?

(1) Sunday

(2) Monday
(3) Tuesday

(AN vAar . ol |
LR ‘I.I'W:«'U]I!:bu::l}l'
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Options :

8024374765. 1
8024374766. 2
8024374767. 3
8024374768. 4

Question Number : 2 Question Id : 8024371192 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0.5

2 9T AT Tt e AT T e T w8, A o 7 e
& g7 F & T e w1 O R A g A g ?

(1) ===

(2) ===

(3) AT

(4) TE=TT
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Which of the following words can be formed using only the
letters of the word

“FLOCCINAUCINIHILIPILIFICATION™? When forming a word
you can use a letter at most as many times as it appears in the
above word.

1) PHILIPPINES

(2) CHINCHILLA
(3) CINCINNATI

4) NATIONALITY
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= | o -7 958 F7A 39 AT FHT TANT F7d g0 TATAT TT TH0a]
g, 9T T =0 fam 17 o= “FLOCCINAUCINIHILIPILIFICATION” =

TART 20 27 957 (AR F7d O80T a7 UF J47 F7 ATAHTH a1 a7
YIRT F7 T d g, (SaAt a7 ag S97 (27 0 9758 § T g 2

(1) PHILIPPINES
(2) CHINCHILLA
(3) CINCINNAT]

(4) NATIONALITY
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A box contains 10 red balls and 12 white balls. Two balls are
drawn from the box at random, one by one without replacement.
What is the probability that the second ball is red?

(1) 1/2

(2) 5/11

(3) 3/10
(4) 9/16

TFEREH10ATT AT 12 TFSAEE | IOH I TF & 915 UF =0 e

AT giaeaTva T JTg=gs =7 O Harel ardr g | 090 A8 % a1
ZI T UTRraT A=t g ?

(1) 1/2

2) 5111

(3) 3/10
(4) 9/16
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Options :

8024374773. 1
8024374774.2
8024374775. 3
8024374776. 4

Question Number : 5 Question Id : 8024371195 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0.5

Three containers, namely cylinder, square prism and triangular
prism, are given. Which one of the following conditions will
ensure that they have identical volume?

(1) Their base areas and heights are identical
(2) Their base areas are identical

(3) Their heights are identical

(4) Their base areas and heights are different

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

A 9 B 2| o B S, Tt Biew di Grpefia tew 20 =
T T FIF-HT TF T g AT F2aT & (% a1 F ATqT =oFd
THTT ZEIT 2

(1) 39 ATATIT & AFAFA AT IAhT SATAT TH THA ¢ |

(2) 37 AT & AAFHA UF THA ¢ |

(3) ST SETAT UF THZ |

(4) ST AL & SARA AT IAT HATAT 199 3 |

An apple is fully cut vertically through its centre 4 times such that

successive cuts are spaced at 45° in clockwise direction. How
many pieces are made?

(1) 4
(2) 16
(3) 8

{4y 12
L L
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Options :

8024374781. 1
8024374782.2
8024374783. 3
8024374784. 4

Question Number : 6 Question Id : 8024371196 Question Type : MCQ Option Shuffling : No Is Question M
Correct Marks : 2 Wrong Marks : 0.5

U T T IAF hE ° 2l g0 4 AT FLATIY T q9g F1AT AT 5

ST FeTq TTETT 45° F07 97 Frermrrae fRor § arw | e IEe

ER NI Lo

(1) 4
(2) 16
(3) 8
(4) 12
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Bottles are to be packed in boxes. If 4 bottles are packed in a box
then 3 boxes are left unused, but if 3 bottles are packed in a box
then 3 bottles are left unpacked. The total number of bottles is

(1) 36
(2) 52
(3) 40
(4) 48
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Al I Sl & TF FZAT 2 | T1F 4 TGt 71 U = § O &y
FATE a1 3 s BT SR & ITA 1A € | T5g IT< 3 Al T U
o= o o T STar 8 97 3 Tiaet G B T E AT S | Fraet
(1) 36
(2) 92
(4) 48
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A tower is 50 m high. When the sun’s altitude is 45°, the shadow
of the tower is x m shorter compared to the case when the
altitude is 30°. The value of x is

(1) 50(+/3 —1)
@ 50(v3 +1)

3)50/(V3)

4) 503
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U HATE it St 50 1. 2 | 99 TqF 45° 7 =1 T gar g ar
fTe 1 ZrET 9F F 30° FF SHTE 9% g A gerT 9 x 0. g gt
Tl XFETHE ... S

(1) 50(3-1)

(2) 50(vV3+1)

(3) 50/(V3)
(4) 50V3
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The year BP, in the context of radiocarbon dating, is defined as
Years (BP) = 1950 — Years (AD)

An object from the Harappan site was dated to be 3050 BC. Its
age in years (BP) is

(1) 5000
(2) —1100
(3) +1100
(%) +5000
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a9 BP, YRFehTae Ay [Mei<or aam i & 929 H, 39 dig o
TR g: 99 (BP) = 1950 — a9 (AD)

SETAT & T H UTH U g+ =l a1 3050 BC MR gz | &
g9y (BP) #...28 |

(1) =5000

(2) 1100

(3) +1100

(4) +5000
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Which of the following months in 2021 will have the same
calendar (the same days and dates) as that in Sept 20207

(1) March

(2) April

(3) November
(4) June

T9 2021 ¥ F O 55 w2 F7 St 99 2020 F FEeT wEA F

FATT o THTT AT (FBT Ta, TEl TaA1F) ?
(1) ==

(2) FuT

(3) F=aT

(4) ST

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

8024374800. 4

Question Number : 11 Question Id : 8024371201 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

Find the value of x at which the given straight line crosses the
X-axis.

(3.6)

S
=4
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ST &T S LT 7T X - AT FT F12AT 2, TS X FT HIT TTH FH970

o (3.6)

(12)

(1)1.2
(2] 15
(3) 2.2
(4) 1.7
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Five persons A, B, C, D and E form a queue. C and E are next to
each other. A has one person ahead of him and has at least one
person separating him from B. Which of the following statements
is certainly true?

(1) A and D are next to each other
(2) A and E are next to each other

(3) D and E are next to each other
(4) B and C are next to each other
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T =AE A B, C,DTFETH FAZaATd ¢ | CTF ETH-TH 2 | A
% AN TF S 2, TAT SAF A€ B F A1= § 7 7 57 TF A 2
FaAasm-a AT sra a8 ?

(1) A &= D 9Te-97 2 |

(2) AT E -7 £ |

(3) D &7 E 9To-ATT 2 |

(4) B &= C ITo-ITT £ |
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Which of the following graphs qualitatively show(s) the function
y =327

(A) (B) (C)

logy
y
y1/2

X X X
(1) B and C but not A
(2) Aand B butnot C
(3) Only B
4)A,Band C

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

= o T FAT-A7(T) ITE [OHF =T T FAT y = x2 FH F90a7(I900) B

(3)?
(A) (B) (C)
> )
8 - >
X X X

(1) Bma C 7w ATEN
(2) ATH B ¥ C7E
(3) FaT B

(4) A,BTAC
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Four babies born in the month of April 2019 are randomly selected.
The probability that at least two of them will have the same date of

birth is,

(1) 81.2%
(2)18.8%
(3) 13.7%
(4) 86.3%

T 2019 F 9T | T=T g 4 Toreat #1 Argi=gs® &7 T T4 AT qrar
g SHH I FH T F7 2 Torerai it TeHTSATE Uk g g i Grrawar ..

o)

(1) 81.2%
(2)18.8%
(3) 13.7%
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Options :

8024374813. 1
8024374814. 2
8024374815. 3
8024374816. 4

Question Number : 15 Question Id : 8024371205 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

A chord AB in a circle subtends an angle of 30° at the circumference.

Then the angle subtended at the circumference by a chord of twice
the length of AB is

(1) 450

@ 600
(3) 900

(4) 1200
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UF T H U AT AB qT e 9% 300 FT FHIT AT FAAT © | T SAET
AB it T AT @STS T SOAT FIIT TS IF AT o1 ST JTAT /007 .

gl

(1) 450

(2) 600

(3) 900
(4) 1200

In a race, the winner beat the second placed by 10 m and the third

placed by 100 m. The second placed beat the third placed by 91 m.
Assuming that the speeds of the runners remained unchanged

throughout the race, the length of the race track was
(11000 m

(2) 900 m
(3) 910 m

(4) 909 m www.FirstRanker.com
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Options :

8024374821. 1
8024374822.2
8024374823. 3
8024374824. 4

Question Number : 16 Question Id : 8024371206 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

T ZrE |, AT g8 ¥ 97 A1 =fw w0 10 H S di9 w47 9T
FT 100 F1. T T T AT 8 | TAL T TF AT = F G0 T T1
F1 91 |1, & gIar 3 | Tt=, AT Tt %7 T T IS | qaAtad e,

TR A A2

(1) 1000 m
(2) 900 m
(3) 910 m
(4) 909 m
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A square of side 2 units contains two half circles as shown in the
figure.

The area of unshaded region inside the square is

(1 3—m/2
(2) 4 —m/2
(3 3 -m/4
4)4 — /4
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U 2 THTe AT AT00 39T | 2 A9 THTE=E 2, ST & == J gam=w
TATE | =T % fiae de-gritha @ T a2

(1) 3—mfZ
(2) 4 —m/2
(3) 3—m/4
(4)4— /4
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LI !\JH!IUH B Al Srl %Al L HLUUU L UL-IHII.L-I. o P | L LR FUFHtHLIUII e

country from year 2000 to 2008. Given that
Per Capita GDP = Total GDP/Population

15,
14. |
13. |
12. |
11. E m GDP percapita B Population (in Million) 12
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UV UIT PITVIVUD yoal wad ul uic yoal.

(1) 2002
(2) 2003
(3) 2006
(4) 2008

U IEH T A1 ATS (ot 247 #t, A7 2000 T 2008 T Ui =1i<h Tehed |
3carz (Per Capita GDP) T St=awIT (population) &t gorar 2 1 3

T 2 - I Tk Tqehed T IcATE = Tl Tohed i ITATE / AT

15.
14.
13.
12
11.
10.

9
Hl B
— www .FirstRan kﬂom

B GDP per capita - BPopulation (in Million)
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SANAEOS N

e ..!r'." e 0 £ ;“:‘j

2002 2003 2004 2005 2006 2007 2008

2000

T AY A g F T A F T TEA T IcA1% H ATAHAH 3
e ?

(1) 2002

(2) 2003

(3) 2006

(4) 2008

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

A 400 m wide river flows at 10 km/h. A man at point A wants to
cross the river. In still water he can row a boat at a maximum
speed of 20 km/h. Point B is exactly opposite A on the other
bank. If he wants to cross the riverin the least possible time then
how far from B will he land on the other bank?

?

B
—>10km/h
400 m

A
(1) 200 m.
(2) 100V3 m.
(3) O m.
(4) 50 m.

www.FirstRanker.com
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TF 400 @1 SEr AT 10 F i e Fiam aagdr g B AT o=
FTTF &l TT% 747 =AT8aT 2 | =97 ot ° 7% =77+ 20 Tr.dt./5er &
T & A7 FAT ThaT & | &g B T &A™ 97 &3 A & foega AT
T | TS Tg AT =AaH T8 § 9 TR F#AT Agar g ar 9g "g B =
faraet 1 97 gAY e 77 T ?

7

BE

——10km/h
I O
A

(1) 200 =.
(2) 100V3 =t
(3) 0 .

(4) 50 .

400 m
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Question Number : 20 Question Id : 8024371210 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

In a cycle of spread of the infection, each person infects 3 more
people. One third of the newly infected people take precaution
and do not infect other people. No infected person dies or gets
cured until the end of third cycle of the spread. Starting with one
infected person, the number of people newly infected in the third
cycle is

(1) 12
(2) 15
(3) 27
(4) 30
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T THHT F el T & =% |, To ATF 3 ¥ FARaT 7 S wedT
T T THRIET ARN G I TF (dgre ATa4T=T 7@ g d17 S090 FT T8
T2l F7d | w2 ot TwiET FrE S0 7% F 99 9% 7 3% a2 a7
TEOIAT 2 | T Fh F AT F0F q97 =6 T A7 TR0 AT ol
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8024371211 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following options represents a series of the amino acids with
the decreasing pKj; values of their side chains?

1. Arg Lys Cys His
2Lys Arg Cys His

3. Lys Arg His Cys
4 Arg Cys Lys His

Fifeed ®H U1 Ud fadhed UrRd §@aial & Ued g4 pK, TFT & ! 3l & Th
3IshH DI THidl 82

1. Arg Lys Cys His
2. Llys Arg Cys His
3. Lys Arg His Cys
4. Arg Cys Lys His
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8024374842.2
8024374843. 3
8024374844. 4

Question Number : 22 Question Id : 8024371212 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

The mechanism of oxygen transport by hemocyanin (containing Cu) is described
by Cu'™.cu™+ 0; 2Cu? .05 . cut

Which one of the following techniques can be used to monitor the change in the

oxidation state of copper?

1. Mass spectrometry

2. Circular dichroism

3. Absorption spectroscopy
4. Fluorescence spectroscopy

www.FirstRanker.com
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SR (Cu gad) BRT Sadier uikde & feanafy & 39d gRI afvid e
SIAEl Cylt Cul*+ 0, = Cu?*.0Z-.Cu?*

=ifed @ U1 U@ de1d S SUdr did & SHaHi®0 G H daad @l
Jgdlidd HH & o g ol 9hdi g 2

1. SOHH WaeHHd
2. gl gidauiar

3. YU W TTHH]
4. yiacia Waeadt

A stoichiometric mixture of @ and 8 anomers of D-glucose in water exhibits

1. net optical rotation proportional to the sum of the optical activities of each
anomer

2. no optical activity as the signs of optical rotation are opposite and they cancel
each other

3. no optical activity as the o and 8 anomers exist in the linear forms that are
optically inactive

4. no optical activity as they form a racemic mixture
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8024374850. 2
8024374851. 3
8024374852. 4

Question Number : 23 Question Id : 8024371213 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

DRI B o TUT g TR & T THEHID UMY 301 O # g1 © |

1. U UIHRI & UHTRIT SfHd! & G & AUiidd Fa Yaur guiH

2. BIs Yl YD sRGdM 71 el wifes yau gui- & ddbd [Judd & aurd ta
T O MOYd #Rcd & |

3. @3 Ht UG FEGAT T8l 5F1 TMMd o U g TR A9 Wea |
faemM gid & Ut yarRig wu @ ke gid 3

4. ®i3 i e drdoday 81 s Hife d ud Raffd e a4 8
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The rate constant for conversion of a substrate into the product is 1074 577 while
the reverse rate constant is 70°% 7 . An enzyme enhances the rate of this reaction
by 100-fold. The equilibrium constant for this enzyme-catalyzed reaction is

1. 100

2. 10000
3.10

4. 1000

T BIUGe] &1 3dIG H ©UFU @1 G2 HOdi® 10+ s § Iaid J6hH & Hadi®
10-%s o | TP UoIgH A &1 aX @1 100-T §gl adl & | 59 TeH-3aid
SfifhaT &1 A Fadid ¢ |

1. 100

2. 10000
3.10

4. 1000
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Question Number : 25 Question Id : 8024371215 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT involved in the formation of lipid rafts?

1. Sphingomyelin

2. Cholesterol

3. Glycolipid

4. Phosphatidylserine

fifed ®F O ue fifts s & fHafn & wie Tdi s e
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Which one of the following statements about human LINEs (long interspersed

nuclear elements) is FALSE?

1. LINEs are located primarily in euchromatic regions.

2. LINEs cannot encode all the products needed for their retrotransposition, and
are dependent on SINEs for some  components.

3. Of the three human LINE families, LINE-1 is the only family to have actively
transposing members.

4. Active LINE-1 elements possess an internal promoter  located within the 5

untranslated region.

HIFd LINEs (long interspersed nuclear elements) & TgH # FHifed &F T ts
HYT T 82

1. LINEs TAqd1 gehiafed WAl § afRyd siar gl

2. 370 URFUTaRUT & U LINEs T a0 JdTG! B ded Tal & gbdl &, adl
DS Ul & AU SINEs TR R S 31

3. {4 LINE @1 JiF 9foraf o, dvaa Lne-1 9oft 7 ugiaeor Ofthg 95w Ul 9id & |

4, Wb LINE-1 Tl o 5° H3ATG] H&4 H TP SMdR® I~0D HaRUT BIAr g |
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8024374861. 1
8024374862. 2
8024374863. 3
8024374864. 4

Question Number : 27 Question Id : 8024371217 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

Myosin molecules that assemble into bipolar filaments in the muscle are

1. Myosin |

2. Myosin 1
3. Myosin IV
4. Myosin V

ARG S S i AUl & fgydt aqel § t@Ha gk g |

1. AR |

2. AEIRE
3. AEIREA v
A AARE v
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Question Number : 28 Question Id : 8024371218 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0.5

Which of the following statements about R-banding of metaphase chromosomes
is FALSE?

1. The heat treatment preferentially denatures the GC rich DNA to produce R-
banding pattern.

2. This is essentially the reverse of the G-banding pattern.

3. The R bands are Q (quinacrine) negative.

4. The DNA of R bands generally replicate early during the S-phase of cell cycle.

com

: No Is Question |
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1. 3510 G=Ad] GC U< DNA @I [ddd ®dl & forgd R-dfE7 W&y a1 gidl
gl

2. d%dd 1 48 G-df-S1 Wy &1 faudid g

3. R Ufedi (@=5T) Q (A1) BUTHS Bidl 8|

4. R UfeTl (d=59) & DNA &1 GH-GIY] S- TR & GIRE Seal Hiddpdia- sldl g |

Which one of the snRNAs given below base pairs with 5" splice site of pre mRNA?

1. U4
2. U
3. U,
4 Us
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fifdbd @19 T TS snRNAs §d mRNA & 5 GO ®d & 91y &R-Jfd gidl 62

1.3
2. U,
3. Uy
4. Us

Which one of the following RNAs possesses the peptidyltransferase activity?

1. tRNA

2. 55 rRNA
3. 165 rRNA
4. 235 rRNA
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1. tRNA

2. 55 rRNA
3. 165 rRNA
4. 235 rRNA

Which one of the following statements about GAL gene expression is FALSE?

1. GAL4 is a positive regulator of GAL genes

2. The UAS region that regulates the GAL gene expression harbors short, phased
AT repeats every 10 base pairs

3. GALBO is a positive regulator of GAL4

4. GAL80 is negatively requlated by GAL3
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Correct Marks : 2 Wrong Marks : 0.5

GAL ofiF @1 sifiycdfad & dey # M=iftd &9 91 Td HU- TTed &7

1. GAL4 GAL S @ U YO NHD HAHP & |

2. UAS W& Sl T GAL S @1 siftyaafad @ FHafad $=dl & S5 Udd® 10 &R i
UR oY TRUTEG AT GRIgRI Bl g

3. GALS0 GAL4 T U USRS HaH® &l

4. GAL80 GAL3 GRI TPRIAD P o FHaf<d gid1 &1

UV- induced DNA damage causes advancing replication forks to stall. To avoid a
collapse of these stalled replication forks the cell uses:

1. non-homologous end joining
2. lesion bypass

3. mismatch repair

4. base excision repair
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Question Number : 32 Question Id : 8024371222 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

uv- URd DNA aifd Wit ufddioa [aRmanst & 3ed & dRU adl & | 34 38
U Ui favmal & [ & erae @ [T ST SUanT &ed o

1. HEHHG R S[ga
2. & JU&

3. §HT &fd GUR

4. §R Jused &id GUR

Which one of the following amino acids is characteristic of and is conserved in

response regulator of plant two-component systems?

1. Aspartic Acid
2. Glutamic acid
3. Tyrosine
4. Histidine
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Question Number : 33 Question Id : 8024371223 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

U5y fg-Hed Uil & Sfhar (Hame o Fifed o 91 U THiHT 3 fafie
© YT TRAEd 87

1. TS
2. TETH® 35T
ERETU T
4, B8N

Which one of the following signaling molecules is NOT a protein or a peptide?

1. Transforming growth factor a (TGF-a)
2. Erythropoietin
3. Granulocyte colony stimulating factor

4. Epinephrine
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Question Number : 34 Question Id : 8024371224 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

frifd &1 T U Yoo 3 U UIdHH 1 U URTS S el 7

1. TURY 3f& BRS g (TGF-¢ )
2. TRYMUITfEA

3. ICIGI3S DA IRD RS

4, TitHfeT

Which one of the following is NOT an extracellular matrix protein?

1. Keratin

2. Laminin

3. Collagen
4. Vitronectin
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f=ifed @ U1 U@ SIRIEE UE UdH J8l 62

If you require to generate anergy in T cells, which of the following conditions will

you use?

1. Stimulate naive T cells with antibodies that bind both T cell receptor and CD28
2. Stimulate naive T cells with antibodies that bind only the T cell receptor
3. Stimulate naive T cells with antibodies that bind both T cell receptor and CD28

in presence of IL-4
4. Permit naive T cell interactions with activated macrophages in presence of IL-4
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i Mud! T SISl § ufafhagFaar 39- &1 8 df Heifed ®F O U6
oI &1 39ar H1?

1. 799 T-SIIY@ref &I ufarel ¥ URd &< o [ T-SIer g auT cp28 gHf 9
IS e gl

2. 919 T-PIf®1si B UfcRal ¥ URd &< Sl {& ad T SIfe! Tg! T of 6<S aid
gl

3. 9a T-@IR®1e B Ui 9 uRd &L 91 {14 &1 Jufufa & 1 Sifrer aret
T CD28 BFI T 3TEg Bid

4.9 T-HIRD13{ BT =-afehar IL-4 BT Jufufa § gihadd Heryas] 4 g &

A UgH B

In echinoderms, sperm direction is provided by

1. Calcineurin
2. Bindin

3. Resact

4. EER1
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Question Number : 37 Question Id : 8024371227 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

 SHISAISH! H, B0 AFIGRA $d gRI WaH fardl oIl 3|

If an early cleavage stage wild type Drosophila embryo is injected with bicoid
mRNA at the posterior pole then

1. head structures develop at posterior pole, while the same is inhibited at
anterior pole

2. head structures form at both poles

3. head structures are not formed at posterior pole due to presence of posterior
morphogens

4. duplication of usual posterior structures cccurs
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8024374911. 3
8024374912. 4

Question Number : 38 Question Id : 8024371228 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

Ti¢ Uh TOUREY S/F%or WHTHS SHe 3% YU & URd @R H d5daids
mRNA ®I THIGSE S A¢

1. U4 B3R R T® Xg-13ff & faerg 811, Fafd 3f1 B IR 98 Sfaifdd s

2. Gl BRI IR 9%ad SXg-1aif @ fa®rE gl

3. U RETaeas! 1 Ul & R0 UE 8R W Had 93g-1a &f i
Tel gl &

4. T U= Gl &1 ufafefeo giar g

If the blastomeres of a 4-celled sea urchin embryo are isolated, each blastomere
can form a pluteus larvae. This is an example of:

1. autonomous specification
2. conditional specification
3. determination

4. mosaic development
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8024374914. 2
8024374915.3
8024374916. 4

Question Number : 39 Question Id : 8024371229 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

g U 4-DIRDIY TE 3T & HRPEs! I JYapd Bl oF o Udd
DRBES P T[Ty dldi Bl HHY Sdl € | 98 U Ialell o

1. W fafRdw
2. gufae=y fafada
3. FgiRo

4, 4iod f[aerg
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Which one of the following plant homeotic genes does NOT encode MADS-

domain transcription factor involved in floral organ specification?

1. AP2
2. APT
3. AP3/P1
4. AG

ifeed ®F 91 UF UTey giftrifed S gt & fafga & =nfid mMADS-3983
HG BR® @] Hed Tal ddl o7

1. AP2
2. AP1
3. AP3/P1
4. AG
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Which of the following is a plant secondary metabolite?

1. Kaurenoic acid
2. Abietic acid

3. Proline

4. Pyruvate

fifed 1 91 U@ UGy fgdid® Suid—ad &2

1. PIEHZD
2. Uleufed 3
3. Ui

4. UIGEde
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Which one of the following metabolites formed during Calvin-Benson cycle in
chloroplast is involved in starch biosynthesis and can also be transported to
cytosol?

1. Triose phosphate

2. Glyceraldehyde-3 phosphate
3. Fructose-6-phosphate

4. Ribulose 1,5-bisphosphate

fFifeed @9 U1 U SUIEds gRdad® H dfcdd-a-9 9 & GRH HiHd 81d ©,
W4 wgaRayu § 2nfid 3id & Ul eifisiaag | o ufiafgd 8l 9ad 82

1. TS BIEhe

2. feifcsgEe-3 Bhe
3. ThaeTal-6- BRbe

4. Tga 1, s-faemrhe
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Question Number : 43 Question Id : 8024371233 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following essential plant mineral nutrients complexes with
mannitoel, mannan, polymannuronic acid, and other constituents of cell wall?

1. Silicon

2. Chlorine

3. Manganese
4. Boron

ifaed ®H 91 U avgd Uied @il UiNe e, §-1H, URiaRIAS 3w
I BIfeT (R & STH1 92! & 9y G gidl g2

1. FafcieH
2. FANH
3. T
4, RH
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Question Number : 44 Question Id : 8024371234 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following plant proteins is targeted by HC-toxin produced by

the maize fungal pathogen Cochliobolus carbonum?

1. H"-ATPase

2. Histone deacetylase
3. ACC oxidase

4. MTA nucleosidase

F=ifeed &9 91 Té UGy UidH Hgdl dad! Ao ﬁl%aﬁaﬁaﬂ GAEIGE
(Cochliobolus carbonum) gkl JdIfed HC-31fdY gRT dférd ﬁjldl 87

1. H™-ATPase

2. o feudieaw
3. ACC adias ﬁ

4. MTA fdeaifgss
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8024374936. 4

Question Number : 45 Question Id : 8024371235 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following causes constriction of blood vessels?

1. Carbon monoxide

2. Nitric oxide

3. Endothelin - 1

4. Atrial natriuretic peptide

Fifeed ®F I 3 difedrel H Updd 39 Bl o7
1. DIa- HHIHGHES

2. AEcH ATHES
3. TSIUfEH - 1
4, URPISS Hiegfed ULEs
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Question Number : 46 Question Id : 8024371236 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

Which one is NOT the function of P-cells in the collecting ducts?

1. Na“ reabsorption
2. K* secretion
3. H20 reabsorption
4. H* secretion

ifed 1 O TP 9UR® Afadisl H p-HIe13i &1 &1 98] 67

1. Na* @I G3{a2Iyu]
2. K* BT Ed
3. H,0 @ QA 3{a=iyu]
4. H* DIHE
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Question Number : 47 Question Id : 8024371237 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT produced by a-amylase digestion of ingested
amylopectins?

1. Glucose

2. Maltose

3. Maltotriose

4, o -limit dextrins

f7Td gU THEAUR &1 o -THEdS & UreH 9 REiidd SF 9 e 39— T8l

BIal 87

1. DI
2. Alceis

3, Hreaed
2, o -Reiftre SaEdig
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Question Number : 48 Question Id : 8024371238 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

What kind of inheritance is indicative in the pedigree chart shown below?

L,

1. Y - linked

2. X-linked dominant

3. X-linked recessive

4, Autosomal dominant
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Question Number : 48 Question Id : 8024371238 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

1 <=IT 7T dRgel Wit 6y UhR &1 =P Jiod &idl o7

(M-

L

LEL o

1. Y- TgeH
2. X- ga HEl
3. X- g UHIdl
4, T gyTE!
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Which one of the following is a correct statement about the difference between a
F* cell and Hfr cell?

1. In F7cell F factor is an integral part of bacterial chromosome, while in Hfr cell F
factor is present as an episome.

2. F7 and Hfr are synonymous.

3. In F* cell a bacteriophage carries F factor, while in Hfr cell F factor is an
integral part of bacterial chromosome

4. In F* cell F factor is in the form of an episome while in Hfr cell, F factor is
integrated into the bacterial chromosome.

Fifeed ®F 1 U@ £ SIS 9T Hfr BIRDT & &9 3R & G4 J ol &Y
87

1. F* SIFRB1 H F RS oildivdd TORE B T A= YAT § Sdih Hir DIRISTH F
HR® TP HYDT & EY H IURYT lal g

2. F* YT Hfr GHFINS B

3. F* DIRI®T § U SaIvHTSH F SRS bl YR BT &, STaid Hr DIRID | F
HRS SidIvad TORE BT U HATH= U T |

4. F* SIS H F RSP U AUHT & Y T 5dl & o Hir DIRIDI H F SRS
Siarfvad U # SHfed aiaT ¢ |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

8024374953. 1
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8024374956. 4

Question Number : 50 Question Id : 8024371240 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

Mutation is essential for genetic variation. Which one of the following events can
lead to wariation amongst the gametes produced by males of Drosophila
melanogaster?

[Crossing over does not occur in D. melanogaster males.]

1. Segregation

2. Imprinting

3. Recombination

4. Independent Assortment.
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Haf fafauar & fere Iafady sif4ard g1 Feifed @1 O e gea =R
SIGITe ey R Jdiicd TH@! § fafafar 30 &) Idhdi 87

R &1 AaFied it T gar e

1. 90U

2. fagA

3. gAgfaA

4, ¥qdd 3T

Cytoplasmic male sterility (CMS) in plants is caused by mutation in the
mitochondrial genome. CMS can be restored by a nuclear gene, restorer of
fertility (Rf), which is a dominant character. If a male sterile pea plant is pollinated

by a fertile male pea plant with Rf in heterozygous condition, the progeny
obtained will have

1. all male sterile progeny

2. all fertile progeny

3. 50% of the progeny fertile and 50% male sterile
4. 75% of the progeny fertile and 25% male sterile
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8024374963. 3
8024374964. 4

Question Number : 51 Question Id : 8024371241 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

UTeyl ¥ HiRGEa] TR d6dl (CMs) GAS D IT ol H 3diddd & dRUE © |

CMS @1 UdTda- Uh BadId 9iH, HEdl gaTd B34 a1a (Rf) 9 8l 9dhdl & ol [

T Ul T 3 | OfE U TR S HeX & U1Y &1 WAV U R e AR d U g

BT S8 fo 1 R fawagsh sfa=y1 § 8, 1 Wi g=afadl & gRT |

1. IH R 991 9fd

2. T erde Iafd

3. 50% =afadl E TUT 50% R §H
4, 75% Fdfcdi &9 dYl 25% R 99

Which among the following states has the highest forest cover in terms of

percentage of geographical area?

1. Chattisgarh

2. Uttarakhand

3. Madhya Pradesh
4. Odisha
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Question Number : 52 Question Id : 8024371242 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

Yiifers &3 & ufaed & g<H & F=ifed uewi § 3 foud aaffie a1 83 &2

1. QTG
2. 3aREs
3. 7Y UCH
4,331

Which of the following phytopathogens has predominantly necrotrophic mode of
colonization?

1. Phytophthora infestans
2. Erwinia spp.

3. Erysiphe pisi

4. Puccinia graminis
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8024374970. 2
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Question Number : 53 Question Id : 8024371243 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

= [N it 4

i ford UreuRi oS | E0adl Ragyad &1 Iadad! Ui gidl 82

1. BISCIRYRT 305y
2. Zefal7ar &t

3. SV i

4. TFHHaT TG
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Which one of the following approaches is INCORRECT in classifying organisms

from kingdom Animalia?

1. Spicules were used as a primary criterion for the classification of phylum
Porifera

2. Protostomes were classified into two major lineages; Lophotrochozoans and
Ecdysozoans

3. Hemichordates were placed in same superclass as Echinoderms because both
have ciliated larvae

4. Ambulacrians included Echinoderms and Hemichordates

Si=] SFTd 1 Wifordf & aeffesxur | Fwifed &F 9 Ud Usid Tad 67

1. URITT TG & aFiiaeul & fod Sicdredl &l Uh Uufis Aeus & Sl UaieT
e a2l

2. Yieerey Runii) &1 aiffaeun ol 1 demach | {601 7 §; Al drasg 9y
IGTIER EIRI T

3. eidrec @l I GuRaay © 34 741 & o f& segAreal of dife gl
H 8l I9% a1di aid o

4, T g0 H SPI1SH ayl gHidbIee WAd Bid 8l
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8024374975. 3
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Question Number : 55 Question Id : 8024371245 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

In a population showing exponential growth, per capita growth rate will:

1. decrease as population size increases

2. increase as population size increases

3. remain constant as population size increases

4. increase initially and then saturate at large population sizes
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U -aE § urdien i uefiid € 81 8, ufdoafad afs e # |

1. fiRIGe 99 S=9= &R g |

2. 9fG il WU DR e |

3. RR WM S sUE AER Fe |

4 ARYY gig qu R fa=id o-ged sieR IR uRgufd |
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Mycorrhizal fungi are associated with a large variety of plant species. The diagram
below shows the cost-benefit curves from individual plants with or without
mycorrhizal fungi associated with the roots across a soil nutrient concentration

gradient.

Plant without mycorrhizal fungi

Plant size

Plant with mycorrhizal fungi

>

Soil nutrient concentration

Which one of the following options best describes the association between the

plant and mycorrhiza when soil nutrient concentrations are high?

1. Parasitism
2. Mutualism
3. Competition

4 Commensalism

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Options :

8024374981. 1
8024374982. 2
8024374983. 3
8024374984. 4

Question Number : 56 Question Id : 8024371246 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5
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Hahgdd BhG [aide YR & Uley Ualliad! ¥ g@&fd g1 Aeifed e e
UIeUl § U% GEUYE 95l Haudl & 9k H Sl § Saeda® Bha & 91y g1
3G &1, AT @14 956 Gl ¢

Plant without mycorrhizal fungi

- - ——
o

s
=1

Plant size

.
-

Soil nutrient concentration

ifed & W1 U6 fdded UGy aY damyd & did & G4 Jdid 9ud
sl 3=d Bl &l Ydicd FY 4 aivfd &l g7

1. Geiifddr
2. UB gl
3. wfaifian
4, gguifaan
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Question Number : 57 Question Id : 8024371247 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following represents the largest outflux of nitrogen from the
atmospheric reservoir?

1. Biological nitrogen fixation

2. Nitrogen fixation due to lightning

3. Fixation on account of fossil fuel burning

4. Fixation by Haber's process for fertilizer production.

f=ifeed ®1H 1 U argHUSHy Y98 U A3eiaH & Ydged HadRUl &i GRIdl 87

1. Wfad s ioH JIf® B

2. ATHIENY fasell & BRI Argeia- TfTDIHE
3. SR 384 SfaH ° diR@ i@

4, WG UG & [T 5a Uispdl 9 D@10l

: No Is Question |
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Correct Marks : 2 Wrong Marks : 0.5

Identify the plot that depicts the change in metabolic rate of an endotherm with

respect to change in environmental temperature

[
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Metabaolic rate

o 10 20 30 40
Environmental temperature *C

[
Metabolic rate

0 10 20 30 40
Environmental temperature °C
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Envirenmental temperature °C

I
Metabolic rate
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Environmental te mperature °C

39 YE@IeE &1 U B2 &l fob ardrauig arga = | gRdd- & 91def U SsTenyt
& TUIIEE &3 H uRadd &l exial g

[

el
Metabalic rate

0 10 20 30 40
Enwvironmental temperature *C

-1 www.FirstRanker.com



:l . FirstRanker.com

Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

)
Metabolic rate

T T T

0 10 20 30 40
Environmental temperature °C

w

L
Metabolic rate

o 10 20 30 40
Envirenmental temperature °C

P
Metabaolic rate

0 10 20 30 40
Environmental temperature °C

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

8024374992. 4

Question Number : 59 Question Id : 8024371249 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

The following statements describe the outcomes of genetic drift:

A. Genetic drift can eliminate alleles.

B. Genetic drift can be associated with population bottleneck.

C. Genetic drift is not observed in populations that increase in size, once they
grow through a bottleneck.

D. Genetic drift can be associated with founder effect.

Which one of the following combinations represents all correct statements?

1. A Band C
2B, CandD
3.A BandD
4 A Cand D
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fifeed wu Sdfies faga & gfondl of aftfd & &
A, AR fage gufased! & qd & Tdhdl g
B. HdRI® fdacH & s-d%a Ao v & Ty il o Ydbdl g

C. HIERI® fFaad 39 S-eensit § uRaféd T8l erdl & off fo @ aR ¥ ¥
HI FedHR HHR ¥ 3fg Ud ddi o

D. AR fdae & BIdex Uyd & 91y Siel o Yad 6|
forifed @ 91 ue a9t 9t syl @f gaifar &z

1A BTOYIC
2.B,CdyID
3.ABdYID
4 A CdyID
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Examples of antibiotic resistance highlight important features of natural selection.
Which of the following statements is NOT true?

1. Evolution by natural selection is progressive, it makes individuals ‘better’.
2. Natural selection acts on individuals but it is populations that  change with

time.
3. Natural selection does not cause genetic changes in individuals

4. Natural selection acts on phenotype

wiceiidl & Ui WieRIy® &Hdrsi &1 380l Hidbidd 99- & Heayqyl fa=uarsdi &
TEifeed @xdl & | AEifed &9 O &Y el Tl o7

1. WIpfads 98- & gRI Hiad fddbrd WiiaRiid 8, 98 Wi & dgdk s 5 |
2. i o 994 ol 1R 1 &l & UR-d 999 & 91y gafpgi uiafdd sidt 21
3. Wi fads 99 WIfor! § SfdiRie uRad- a1 9l Hdl o

4. UTpfads 991 &0 WRed IR &1 &l B
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Question Number : 61 Question Id : 8024371251 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following genomes is most appropriate to determine hybrids in

plants and animals?

1. Nuclear

2. Mitochondrial

3. Chloroplast

4. Mitochondria and chloroplast.

Fifeed ®1F 91 ve Iofi9 gyl aul sigell 3 9o & FuRor d gaifas 3uge &7

1. RDIY

2. TFBHOBIT

3. BRd 9P

4, TABIUDT 9YT Bd Tdd
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Question Number : 62 Question Id : 8024371252 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

The common cuckoo, a parasitic bird, lays eggs in the nests of other bird species.
Soon after the cuckoo egg hatches, the chick shoves the nest owners’ eggs out of

the nest. This is an example of:

1. habituation

2. imprinting

3. innate behaviour

4. operant conditioning

YR DIYc, Th WIGsilal Y&Hl, T8 Ual Ueiiadl & giae H Us ad @ | 3l ¥
DA & ol & HdTH & qi-d 916, 9ol gibd & HIid & (US| Bl U ad
919 o aTe H®a &d § | 98 U Jaieivl &

1. AT
2. fagA

3. viHvlld o4dgIR

4. Wpd FIgeH
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Options :

8024375005. 1
8024375006. 2
8024375007. 3
8024375008. 4

Question Number : 63 Question Id : 8024371253 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following approaches/markers would be typically used for
discovering polymeorphism between two closely related accessions of a crop
plant?

1. AFLP
2. GBS
3. 55R
4. RAPD
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fifeed ®F O ufafeml/ s ts By Uid & ol g-tedl § 999G 9edddl &
g dg&Udl & WIS & oIl JIURUTGAT W1 o ol SIu?

1. AFLP
2. GBS
3. 55R
4. RAPD

Given below are a few approaches/techniques used in the analysis of plants:

A. Phenotype linked to the marker gene.

B. PCR using primers specific to the host genome.

C. Southern hybridization

D. PCR using transgene-specific primers.

Which one of the following combination of approaches/ techniques can be used

to differentiate between transgenic and non-transgenic plants of a particular

variety if the site of insertion is unknown?

1. B and C only
2. A and D only
3.ACandD
4 ABandC
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8024375013. 1
8024375014. 2
8024375015. 3
8024375016. 4

Question Number : 64 Question Id : 8024371254 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

UGyl & (GReo & S9N [T 9 ald $© WIared! /Adm-im! ®f - I T4 6

A ToE® 9 T 3ag aaumuEy

8. Giftrar duiq fafaree Susma! T pcr

C. OG- Blaiad g

D. Ui fafdme Susmad! I pCr

wfafeal /Ad-to! &1 F=ifed 1F 91 Te 8d U 939 UeR & Uled H UReiH! adl
H-URSIH & 919 faug &1 & [ W4T a1 91 96l § wdid Hde &1 =d
HYT Bl

1. $ad B AU C
2. Had ATYUID
3.A CTUID
4.A BTUIC

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

In the context of plant breeding and genetic engineering, which one of the

following statements is correct?

1. To achieve high expression level of a heterologous gene in a transgenic plant a
promoter of bacterial origin is often used.

2. F1 progeny derived by crosses between inbred lines with low genetic diversity
is more likely to show heterosis.

3. In Agrobacterium mediated plant transformation, always a single copy of the
transgene is inserted in the host genome.

4. Qualitative traits are typically characterized by discontinuous phenotypic
variation while quantitative traits often generate continuous phenotypic

variation.
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UIGU Uoi=- Yl SHaRIe HREiEs! & G54 § HHifed ®H I Uh oY Ul 67

1. TP WoiHl Urd § U [Auaad oid &1 3= Sififeafad Ul ® & (o 9Eraadl
Siaftae Igyd 3~Td &I Iudi gidl &

2. e AR fafgudgad 2id: usd Haf & Tdu d 39+ F1 gafaal
Hopeadiel fem &1 3=d UG Bidl 2

3. WEfgeRgs 9% Ulgy S U=l 4, 9iftq) @ei § 94a] YR &1 Uh
yfafaf senfid giar 8|

4, T T YHEFIAA] HH [dwsd] Ty fi=Tarsi 3 f9=ied gid § Weld
HETES (339t QYR SHfa3d TauaEy fi=dd 30— & &

The total number of cells in 1 ml of a bacterial culture was estimated to be 2.7 =
10°. The culture was diluted 27-fold and 100 ul seeded per well of a 96-well plate.

What is the final cell number per well?

1.1x 103
2.27 x 10%
3.27 x 10°
4.1x 104
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8024375023. 3
8024375024. 4

Question Number : 66 Question Id : 8024371256 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

1 ml SliafUas Gae- o Sifkieref & oo 9= 2.7 x 108 FAuiia #1 7 | gadq
@l 27-TH1 A [ehTT 711 qUT U 96-FUeh wie | 100 ) Ufd PUS @I 7411 Ufd
DUD DI B FHuiad dwer o ghil?

1.1x 10°
2.27 x 104
3.27 % 107
4.1 % 10
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In a cloning experiment, a DNA molecule isolated as a Pst | fragment was inserted
into the Pst | site of a cloning vector that is 3kb in length. Digestion of the
CONFIRMED clones with Pst | resulted in the appearance of a single band
corresponding to 3kb in an agarose gel. Based on this information, what is the

probable size of the cloned fragment?

1.6 kb
2.1.5 kb
3.3kb
4.45kb

U Gai TR H, U DNA U] BT GYDHDH0 T Pst | 3= S1GT fobdT 711 a1 ST
A=A U 3kb T T Haled & pst | ™I | b1 71| WO aaii=1 &1 Pst |
T U 4 Uheh §-5 @1 U 83 ol fob WRIS ofcd | 3kb & 3FFU & | SWRiad Yl
& YR W, T T ¥ 7T 32 BT GG ATHR 1 BT

1.6 kb
2.15kb
3.3kb
4.45kb
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8024375027. 3
8024375028. 4

Question Number : 68 Question Id : 8024371258 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following statements is TRUE?

1. Nick translation cannot be used for radio-labeling DNA fragments for use in
Southern hybridization

2. RACE can be used to obtain sequence information of the ends of a cDNA

3. In a 2-D gel electrophoresis for separating proteins, analytes are first separated
on the basis of their size and then on the basis of their pl.

4. AFLP markers are typically used to screen heterozygotes from homozygotes

fifed 9 91 TP &Y Tol 57

1. W1 a6 &1 SULN Yo elRiasleuid- H FWIN & it DNA 3 &
e sifdad & fau A2t faean o Y|

2. RACE @I 3UGHT cDNA o fIRT & 0l & Y1 UId &+ o {o1U fdedn & gl
gl

3. UidtHf & gYadhul & ol 2-D ofdl dggddurddad H fa=ersdl & Ugd bR &
HIYR W UYdpd bl Sl & qul bt 39 pl & ATUR ) |

4. AFLP TIe®] @1 SUGRT IEHIGa GHgES! § fquagraeial & Srdieo | o

CIGIN
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Options :

8024375029. 1
8024375030. 2
8024375031. 3
8024375032. 4

Question Number : 69 Question Id : 8024371259 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following proteins produces a dark blue/purple color in the

presence of 5-bromo-4-chloro-3-indolyl phosphate and nitroblue tetrazolium?

1. Polynucleotide kinase
2. Alkaline phosphatase
3. B-glucuronidase
4. B-galactosidase
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fr=ifted B 91 Us UeH 5-81H1-4-FIR) -3-5- /e qul A5eiey ersieiud Bl
Fuftufa o e Hien/SrgH 31 304 s &7

1. Tl gfdeaiegs digad

2. Uehclled BRG]

ER B—‘Q@}E To9
4. p-RRRR

Which one of the following sets of terms is matched correctly?

1. Fluorescence microscopy: Use of dyes that absorb and emit light of the same
wavelength

2. Confocal microscopy: Use of pinpoint illumination and detection apertures

3. Confocal microscopy: Use of pinpoint illumination and detection apertures

4. Gas Chromatography: Used for analysis of non-volatilized carbohydrate

molecules
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Question Number : 70 Question Id : 8024371260 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0.5

egIaaidl &1 FHifdd S 91 9Yg Udlad ¥ Jeid 82

1. AT GeTag: Y9! &1 WG ol fth G0 aiTe e & UHI o Sa=igol aul
J&ed ®d o

2. DHBIH (GIH) YEHCRI: &7 eI TuT T gR& &1 SUdR]

3. FISH (fth1): fgooe HeliHl § Ufaciia ¥oid Uil BT DNA-DNA sl &
AT & o0 &R THG! & dig Aafdee g 9 & fod Iugh

4. 19 quicifEaT: 3-araeiid Prefemac AU & favem & e Iugm
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Question Number : 71 Question Id : 8024371261 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 4 Wrong Marks : 1

The following statements were made to suggest the existence of an enzyme —
substrate complex.

A. At constant concentration of enzyme, the reaction rate increase with increasing
substrate concentration

B. An enzyme-catalyzed reaction has a maximal velocity

C. At constant concentration of the enzyme and substrate, an increase in the
reaction rate is observed.

D. An enzyme catalyzed reaction is not influenced by high substrate
concentration.

Which of the above statements suggest the existence of an enzyme — substrate

complex?

1. AandB
2. BandC
3.AandD
4. D only
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TP TS H-BIUgd 49U & 3HRad ol Udad &3 & [0 4 $YH 8910 T |
A, TSI & 9d Uradl R, $sd & Osal § afts & Ty sfifsar e ggadl & |
B. Ut =15 H I aififenar &t affeaq Ifg gt & |

C. T=ai1gH qYl Bigd & Fad sl U1, 3ififsar e & td gfte cut oidi @ |

D. & TisH JAIRT fUHa $rHigd & 3=9 9rsdl § UyIfad 9l aldl & |
IR D U HY/bY- TSIgH-BRIgd B 3= Higd U THIfdd &l 57

1. AdUIB
2.BdYUlC

3.ATUTD
4. Hdd D
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An enzyme catalyzed reaction comparing proton and deuteron transfer reactions
yielded the following kinetic data

kest [HI 577 70.7
Kn [H], mM 1.03
kst [D], s 10.3
Kn [D], mM 1.06

Which of the following represents the turn over numbers (M s7) for proton
transfer, deuteron transfer and the kinetic isotope effect, respectively?

1. 68640, 9717, 14
2. 6864, 972, 7
3.728210,1091, 14
4. 68640, 9717, 7
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Us U=ty IR @#ffssar st for Uied qur sgeia ®ERor Sffsarsd of e

keat [H], 577 70.7
Ky [H], mM 1.03
kst [D] s 10.3
Ky [D], mM 1.06

f=ifed @ U1 faecd HHY : UieH ST & [oU 2 31183 &1 (y-1 1),
SU2H RIFR0 3T TTfas SERITHE THTE G2l 87

1. 68640, 9717, 14
2. 6864, 972, 7
3.728210,1091, 14
4. 68640, 9717, 7
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The first step in the biosynthesis of valine begins with enzyme catalyzed
condensation of two molecules of pyruvic acid. If an equimolar mixture of
13CH;COCOO0H and "2CH;COCOOH are used as substrates for the reaction, which
one of the following would represent the correct isotope incorporation pattern of
the pro-R and pro-S diasterectopic methyl group in valine?

50% '*CHs (pro-R), '2CH: (pro-5)
" 50% "¥CH; (pro-R), "*CH: (pro-S)

75% "*CHs (pro-R), '*CHa (pro-5)
25% "2CHs (pro-R), "*CH (pro-S)

25% "CH; (pro-R), "*CH; (pro-5)
25% '2CH; (pro-R), *CH; (pro-S)
25% "*CHa (pro-R), *CH: (pro-5)
25% "2CH;s (pro-R), "“CHs (pro-S)

75% '2CH; (pro-R), "*CH; (pro-S)
25% "*CH; (pro-R), "*CHz (pro-S)

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

afeH & SIagxayY H gy 910 Gl UISEiad S5 & U3l & Uagd Iaid g
¥ 3 BT g1 TG 13CH;COCOOH TUT 12CH;COCO0OH @1 Te THAIR dHs @I
I Sfuftrar & fog U@ ddad w41 [ oie, & FAeifed &4 91 o afeq |
pro-R YT pro-5 ufdfdd! fafad durgd 9gg & udle guyiHe 943+ & W&y
@] Gl 82

50% 13CHsz (pro-R), 2GHs (pro-S)
50% 12CHz (pro-R), *GHs (pro-S)

1.

75% 13CHz (pro-R), 2GHz (pro-S)
" 25% 12CHs (pro-R), 1*CHs (pro-S)

25% 13GHz (pro-R), 12GHs (pro-S)
95% 12GHz (pro-R), 13CHs (pro-S)
25% 12CHz (pro-R), 3CHs (pro-S)
25% 12CHz (pro-R), 2CHs (pro-S)

75% 12CHs (pro-R), 1*CHs (pro-S)
25% 13CHs (pro-R), 1*CHs (pro-S)

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 4 Wrong Marks : 1

The following disulfide bond containing peptide was digested using trypsin. How
many peptide fragments will be produced by the digestion?

MTPOKAVILNSCTYRPYPM

NOQOGCLKVCVNPCGRLTDEH
—J

1. Three
2. Four
3. Five
4, Six
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fifed fgacmigs e gad Ueigs @l UreH [t O fdar 1| ureH 4 Uergs
& o W Iafed gz

MTPQKAVILNSCTYRPYPM

NMOGCLKVCVNPCGRLTDEH
| I

1. 44
2. dR
3.0
4 9
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A 100 residue long protein has a single chromophoric residue (tyrosine). The UV
absorption of this protein and a homologous protein (also with a single tyrosine
residue) was monitored at 280 nm at different pH conditions. A plot of the
absorbance as a function of pH is shown below. The locations of the tyrosine
residue in the context of the protein sequences is also shown in the figure.

- A ! B

3|1 25 so 75 100 S|1 25 so 75 100

e ) [ T Y [ G | 2 1 11

g T g i

E ;

5 ! z |

§ 7 8 9 10 11 12 5 7 & 9 10 11 12

pH pH

Which one of the following rationalises the difference in the two pH titrations?

1. removal of the hydroxyl group of tyrosine above pH 11

2. location of the tyrosine residue in the protein structure

3. pH dependent changes in the absorption in the polypeptide main chain
4. hydrolysis of the polypeptide as a function of pH
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U 100 3(d4d ard UIdH T Ush Udhdl quigad faud (S1sEF) g1 39 UIdH &l aul
geddf uida (oo off e uhd eI 3@gd ) @1 uv Sauimo fafie pH
uRfufaat § 280 nm TR i@difed fasan 1 | UEH & SiI@al & 9o & 5=
3g9d &1 =F W FEifed Rl | g T g |

- A ! B

3|1 25 so 75 100 S|1 25 so 75 100

e ) [ T Y [ G | 2 1 11

§ Tyr 5 Tyr

2 2

3 y |

5 7 8 9 10 11 12 5 7 & 9 10 11 12

pH pH

ifded @ 91 U faded &l pH RadHl # faf= &1 gidddtl &l § ?

1. pH 11 & SR CRINH & HS Sl G &1 HaRu
2. UidH & W&y H SR 3agd & ™H

3. UIiUwEs S &4 44 § pH MR sra=iyor § giad
4. pH D TP TP & W41 URULES BT 9d-HTHe
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The 15 base-paired nucleic acid molecule shown below is dissolved in an aqueous
buffer of pH 7.3.

5’-AGUUCGGAUA

CAUGCCUAU

CGUG-3
3’ =0 GCAC-

U
A 5'
Which one of the following statements is INCORRECT?

1. It can be a double-stranded DNA molecule in a B-form helix
2. It can be a double-stranded DNA molecule in an A-form helix
3. It can be a double-stranded RNA molecule in an A-form helix
4. It can be double-stranded RNA molecule in a B-form helix
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9 e=1d T 15 &R-gW fdkid 3 DUl I U pH 7.3 & ociig 34Y UfaRish o
Hiedl 741

1. 98 Udh B-HIHRET HUSeH H fg-Touid DNA 0] 1 ¥dhd 8|
2. U8 Ud A- HYEY GUSdl H f§-Ield DNA U] §1 9dd o
3. U8 Ud A- HYEY GUSdl H f§-I0ld RNA 3 81 9avd &
4. U8 U B-HR=U HUScHl H fg-Touid RNA 7] 81 ¥dhd ¢
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Following statements were made about sex determination in Drosophila
melanogaster:

A. It is achieved by a balance of female determinants on the X- chromosome and
male determinants on the autosomes.

B. A Drosophila with 0.66 value of X:A ratio would develop intersex type.

C. Due to noninvolvement of ¥ chromosome in sex determination process, XO
Drosophila develop as normal fertile male.

D. The high value of X:A ratio facilitates activation of feminizing switch gene Sex —
lethal (sx]).

E. Sex specific expression of sxl causes selective activation of dosage
compensation genes in female Drosophila.

Select the option with combination of all correct statements.

1.A B E
2 A B D
3.B,CE
4B, CD
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SIgiGer ey d fan Ry o gras o e oy 591 1

A, T8 X-T0H IR Ire] RuRe! gyt Hfeimgal ) R el & te dqad 4 3urfsid
[CRIEIGIE

B. X:A 3]UTd & 0.66 Jed dIell Ush S/g/berues qeafeitll uey o famfid ghm|

c. feim Fufor ufsean 4 v orga @1 SugHIiTal & &R, X0 S/gBaramg
SHH&H R o fad g g

D. X:A 3UTd &1 3= Yo HIGIDR® ge S [e1-9Tdl (Sex-lethal) (sx) & Giergul
@I T Hdl 8

E. sxl @1 feiv1 fafkree siftroufad arer sigirer § AraT e ufdaor Sl &
FIUNHS Gibau & RS g1d1 6

vt el dY=l & 9d arcl faded &1 999 B

1.A B E
2 A B D
3.B,CE
4B, CD
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Following statements are made about KDEL receptor.

A. KDEL receptor is found in COPI vesicles

B. KDEL receptor affinity for KDEL sequence is high at higher pH

C. KDEL receptor is synthesized on the ER

D. KDEL receptor is present in the ER and Golgi

Identify the option that contains all correct statements about the KDEL receptor.

1. A and B only
2 A B C
3.A,CD
4. Cand D only

www.FirstRanker.com
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KDEL UTe! & HgH H fH oy 9910 7|

A. KDEL 9Tl cOPI Gieatsii & Ur <iidi & |

B. KDEL WTel 1 KDEL 3IhH & Ufd §=[dl 3=dd? pH W i@ 8idl & |
C. KDEL TET ER TR Uafid SIeT 2 |

D. KDEL U8l ER TYT TMTewil § UM W1 & |

KDEL W81 & Ta= H i U5 Y1 ardl fdded &1 UgaH &1 |

1. Ha A TUTB

2 A B C
3.A,CD

4. Hdd C YT D

The following figure represents the growth curve of wild type E. coli grown in a

medium containing both glucose and lactose.

Bacteriall _/_

density /
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I_I’ 1L 1 1
— T 1T 1

2 4 6 8
Time in h

In E. coli, the catabolite repression of lactose operon by glucose has been
explained by the different levels of cAMP in presence and absence of glucose.
This model was challenged and experiments showed that catabolite repression
occurred because the activity of lactose permease was inhibited in the presence of
glucose. Considering the second model, which one of the following plots correctly
represents the growth pattern of a mutant E. coli with a loss of function mutation

in the lacl gene growing in a medium containing glucose and lactose?

1.
Bacterial|
density
1 | 1 1
| 1 | 1
2 4 6 B8
Time in h
2.
Bacteriall
3. density
1 1 1 |
1 | 1 1
2 4 6 8
Timein h
3.
Bacterial|
density
3.
—1

1 1
|| ]
2 4 6 8 www.FirstRanker.com
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Timeinh

4.

Bacteriall

density

4,

| 1 | 1
] ] | I
2 4 6 8
Timein h

i 3 @IS aYT dae ™ GHi 4 god U a4 A19H § TS £ coli &
o D@ g |

Bacterial
density

1 1
1
6 B8
nh

Fud ==
b

Time i

E. coli @ISl gRI daeldl Udlcid &l AU GO &I Pl &1 Jurfd qul
HIURUA H cAMP & Tafi— &R gR1 "fagiied &1 71 | 39 Uiduied @rsa) ®
19T Gt T 791 YT Y4 § I <@l 741 fdh 3Uag- g5 Tdis & Juiyfd |
ﬁa@amﬁwaﬁﬁw&ﬂw%aﬂqﬁwg&ﬁ 1%&%&%%

aﬁ&mﬁumﬁaﬁmwnﬁwﬁ&ﬁmﬁﬂaﬁwﬁmmﬁm
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| 1 ] 1
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Bacteriall
density
2.
1 L 1 [
] | 1
2 4 6 8
Time in h
Bacterial|
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2! o
| |
I |
2 4 E 8
Timein h
Bacteriall
density
4,
:I
2 4 6 B
Timein h
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8024375073. 1
8024375074. 2
8024375075. 3
8024375076. 4

Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling
Correct Marks : 4 Wrong Marks : 1

Following statements were made about human mitochondrial genome:

A. The replication of both the H and L strands is unidirectional and begins at
specific origins.

B. Majority of the mitochondrial genes encode for protein  products.

C. Though the mitoechondrial genome is extremely compact the genes never show
any sequence overlap.

D. The CR/D-loop region of mitochondrial genome exhibits triple stranded
structure.

E. Transcription of mtDNA starts bi-directionally from a common promoter region
in the CR/D-loop region and continues round the circle.

Which one of the following options contains a combination of all correct

statements?

1.A B D
2ADE
3.B,D, E
4B, CD

: No Is Question |

www.FirstRanker.com
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8024375080. 4

Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 4 Wrong Marks : 1

H-d QBB ol & Fea=t H (44 du- g9/ T

A. H TYT L &FT Tou[d! @1 Hidddia ThieTdHS Bidl & oyl TP farY 3gH =d |
HRPH BB |

B. SIGR TADHUHE i+ Wi MGl &1 Bed Hdl 6 |
C. T GG Hoild H&d T Bidl &, Si- BHI HI TRl el il &
D. YABIG G Holl- &I CR/D-Te & PR U1 &2idi ¢ |

E. mtDNA & 3FciG- @1 SRBY CR/D-T% W& H Udh SHAMS S~T-d Haid §
fafc=Td® dih ¥ SR% BIdl & aul 9o & JddR &l WRI Wl ¢ |

fifchd &1 11 U faepey el wel ol & da d A 8 2

1.A B D
2ADE
3.B,D, E
4 B,CD
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Following statements were made about the characteristics of cyclin proteins:

A. Synthesis of M-cyclin is dependent on the cyclin mRNA that is newly
transcribed after every cycle.

B. Destruction of M-cyclin toward the end of mitosis is driven by ubiquitin
independent proteolytic system.

C. 31 cyclins can be activated by mitogenic factors.

D. Retinoblastoma (Rb) is a key target of the activated cyclin D — Cdk 4/6 complex.

E. While cyclin A1 expression is ubiquitous, cyclin A2 expression is restricted to
the germ cell lineages.

Which one of the following options contains a combination of all correct

statements?

1.A B D
2B CE
3.B,D, E
4 A CD

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Arsfaa- Uil & sifiyaeon & gra= ¥ 9 &y 59 1

A. M- FI5{Ge 1 G0N0 W60 mRNA @ SR HIR gidl & o & Ud® 9% &
UgEd 99 R 4 raf@d gian & |

B. UUAY & THIUA & gHiu M-Trsfded @ faar gfaggfed sHiea uidE
HUYedh d-d 9 Fifeid glal ¢ |

C. G1 UrEfFH! &1 Gfchgur ugEei- SR U 5 9hdl e
D. YeAsAREAT (Rb) Gfrd BT D - Cdk 4/6 THY DT UG Q@ adaidl & |

E. Said dgfaeq A1 @ fficfad Jaaaius &, Tigfacd A2 @I fiaafgd o4
DT dae 9@ & Wi WwaT & |
f=ifed @ O U@ fdmey 9l Gel syl @ da 9 Afifa g 2

1.A B D
2B CE
3.B,D, E
4 A CD
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Following statements were made about catalytic introns:

A. Group | introns may undergo self-splicing by transesterification.

m

. Group Il introns do not require any factor/protein for autosplicing either in vivo

or in vitro

C. Certain introns of both the group | and Il classes may contain open reading
frames which are translated into protein.

D. Generally, group | introns migrate by DNA-mediated mechanisms, whereas
group Il introns migrate by RNA- mediated mechanisms.

E. Ribonuclease P (RMNase P) is essential for bacteria and archaea but not
eukaryotes.

Which one of the following combinations represents statements which are all

correct?

1.A B D
2B D E
3.A,CD
4.C D E

www.FirstRanker.com
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9 @y IR g7Hl & TER H g9 T

A. fques Ui g1 &t | & S2F! &1 [WaHE=H gl Iobdl o

B. ©iId 34dl U & 1| 2<H! &l WaHe=H o o7t fdd] dRS/UICH B Sawgddl
T8l 8idi1 5

£ ﬁl%llﬁ%ﬁ%@ﬁlﬁﬁmw (open reading frames}E?I
g & foIgd1 3idig UIdH & T 4 gidl 8

D. W], @ | 3<H1 &1 RIFFRU DNA-TSR UfEh a1 §R1 8idl 6, &t av i
g2l BT RFRRU RNA-TER UiHaT GRI AT & |

E. TZEfGTY P (RNase P) STATO[H Tl (e SHaTu[di o iy Sfawue & W
gl o fag gl |

F=ifed ®F 91 U Hol gt U5t dyHl ol gRidlg 2

1.A B D
2B D E
3.A,CD
4.C D E
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A protein found in the golgi compartment was found to be degraded rapidly at
mitosis. Golgi extracts (isolated from Gy and M phase cells treated with

deubiqutination inhibitors) were treated with glycosidase and western blots done

using antibodies against the protein. The following pattern was obtained.

Marker

G,

-gly

+ gly

- Bly +gly

75 —

30 | ——

Identify the statement that CANNOT be made based on the data.

1. The protein is glycosylated in Gy and M-phase

2. The protein is glycosylated and ubiquitinated in M-phase

3. The protein is ubiquitinated but not glycosylated in M-phase

4. The protein is not ubiquitinated in Gy

www.FirstRanker.com
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Meoll & H Ul o dle T UIEH &1 T faureH & 98y digar 9 faufed gid
1 T | et (e (FRgfedfeRaRu YeHs! ¥ Iudid 6y dUl M ARyl
DDA T gyaad foa1 g3 &I WEeEEs U UHiRd oid UlKH & &G
uferefal O o s g 1 | e ufaey e gan

Marker

- Bly

+ gly

- gly + Ely

75 —

30 | ——

HYUA P TgdH B ol [ SWIad HFs & SMYR T 78l 191 ofl SHdl & |

1. Gy TUT M-3a®y1 § UIdH Wisaifdiad & |

2. M-3aRIT H U Targoiidied aul geaaeed &l

3. M-3aRIT H UieH gfeagfead & Ui s dliaciod Jal & |
4. Gy B U geEgfeRea T8 |
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Following statements were made about regulation of eukaryotic gene expression.

A, It is usually regulated at the level of initiation of transcription by altering the
chromatin architecture.

B. The eukaryotic genome is divided into domains by insulator elements.

C. A chromatin remodeling complex binds to the promoter of a gene in sequence
specific manner.

D. Architectural proteins regulate gene expression by promoting DNA bending.

E. The chromatin remodeling complex can alter nucleosomal architecture, but
cannot displace them.

The option with all the correct statements is

1.A B D
2 A CE
3.B,D, E
4B, CD

www.FirstRanker.com
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goiaifes oF sifiefaa & e & gy 3 e oy e )

A. TRV T8 $idfed & §419¢ & d6ald & gRI 3oa & URIED TR W
frafad gian g

B. Jobi¥gifed HoflA Saieh aal gR1 waEl H fauiford gid g

C. U e UfdEyu iy U o9 & 3-8 U oy fafdee yurrel ¥ ded
gl

D. TgHT Tafdd Ui DNA TRIS &1 Ifid s il ffiyeafad &1 g &d
gl

E. shiafeq ufaeygur 4ty gfdaaia &f 93=-1 & uRadd o Tad &, 0] 3!
faenftd 96l &) Uad|

it ugl syl g faswea o -

1.A B D
2 A CE
3.B,D, E
4B, CD

www.FirstRanker.com
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Contents in Column | and Il are with respect to bacterial transcriptional regulation.

Column | Column lI

I. Positive regulation by cAMP|a. Ara operon

ii. Short abortive transcripts  |b.Lac operon

iii. DNA looping c.Riboswitch

iv. FMN synthesis d.Transcription initiation

Which one of the options below correctly matches contents in Column | with Column [1?

1@ — () (i) — (d) (i) — (a); (iv) - (<)
2. (i) — () (ii) = (b); (iii) - (a); (iv) —(d)
3. ()= (b) (ii)—(a) (iii) —(d); (iv)—(c)
4. ()= (d); (i) - (c); (i) - (b): (v)-(a)

www.FirstRanker.com
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®ICH | TYT || BT faug g% Sanvde e HaaT & ged 4 8 |

®Iad | HEad 1l
i) |cAMP BRI BRIH® Hoad (@) |Ara UEI®
iy [ e ufaed (b) |Lac VTG
i) |[DNA G0 (0 [EefEE
(iv) |FMN T=eEor (d) |3fciEH R
fifbd ®F W1 Us fadey @Ic™ | aul 1| & [A9g o & Geldbdl 4 QHferd &al
87
1@ —(b) (i) (d); (i) - (a); (iv) - (c)
2. (i) — () (i) — (b); (iii) - (a); (iv) - (d)
3. (i) — (b} (i) —(a); (i) - (d); (iv)— ()
4.())—(d); (i) — (e (i) - (b) (iv) - (a)

www.FirstRanker.com
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Which one of the following statements about eukaryotic RNA processing is
INCORRECT?

1. Termination of transcription occurs co-transcriptionally at the polyadenylation
site.

2. Phosphorylation of the Ser 2 of the RNA polymerase Il CTD is required for the
recruitment of polyadenylation factors.

3. Polyadenylation requires both cleavage at the polyadeny-lation site and
addition of poly A.

4. Xrmm 2 is the nuclease that degrades the cleaved RNA to release RNA
polymerase Il from the template.

www.FirstRanker.com
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IbRAICD RNA UHHU & TGH H DI 91 Ud DU 7Tad 67

1. 3fciEH &1 Y9194 SglsiHad ®d 1R Je-3aa-aal S eldi g |

2. RNA UTCES I CTD & Ser 2 @1 BIGIRCHIU dgUs Hiamit] HR®I &
TR & oL 3aas® gl

3. ggUefAfeiary & foru sgusffaamu —ie U fdeeH a1 a8 A (poly A) &1 dRT
Gl @I Haxgdhdl gldl o

4. Xrn 2 98 Gfdaud & S fob gid T RNA TIeiERs 1| & FHaror & fore fagfad rva

@I fqufed B gl
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The following statements are made with reference to the fact that tRNAs are
known to possess T in their sequence.

A. RNA polymerase Il utilizes TTP as one of the substrates.

B. Like any other RNA polymerase, RNA polymerase Ill also utilizes rUTP but when
the RNA pol lll reaches a looped structure it binds to S-adenosylmethionine to
methylate C-5 position of the incorporated U to result in a thymine in a
co- transcriptional manner.

C. During transcription of tRNA genes at the designated positions, DNA

polymerase replaces RNA polymerase Il to incorporate T in the tRNA
transcript
D. A specific methyltransferase utilizes a methyl group donor to post-

transcriptionally modify the specific U residues into T residues.
E. Uracil to thymine conversion occurs in a large number of tRNAs in the TWC
loop.

The option with all the correct statements is

1. A and B only
2. B and C only
3. Cand E only
4. D and E only

www.FirstRanker.com
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Question Number : 87 Question Id : 8024371277 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 4 Wrong Marks : 1

Fiferd @Y=l &1 39 9@ & oM H &1/ 77 {6 tRNAs B S0 A T &1

qHIfed fPU gL SISl & |

A. RNA UTETERS 11 TTP &I U Slsiod & &9 H SR H Aar g |

B. fhdt GTX RNA TS @ ofT, RNA TIAES 11 T rUTP &1 SUERT &dl &
UR=] 09 94 RNA pol |1l T FadhieR sHIde &l WK &R odl &, I8 THId% U &
C-5 ®IF &1 AfNHd B3 & AU s-ufgAifuaniim== 9 suar g, uhumaEy
E-3fJche- UG(d § YfiF § ufawfaa sl & |

C. TIfE™e ®El TR tRNA SiHI & 3IeRa" SR, tRNA Hided 5 T &l FHlRd &3
@ {0 DNA UTCIERS RNA UTRIFRS 11l &I HiaRTiUd SRarg |

D. Uas 99y AYEacigwmel S U=ard 919 U 3fagdl &1 7 Hagdl § uiafdd
B3 & o0 U HiYd g aIa1 ST 399 Hdl Bl

E. TWC T H tRNAs & Ad8d T § guiid &1 yisfi- | YuRad sid 8|

ot 98t HyAT € god fasea B

1. Had A TUTB
2. HAAB TUTC
3. ®ad C aUTE
4. HAADAYUE

Leishmania major, the causative protozoan parasite of cutaneous leishmaniasis,

—TesIdEs and mopies withiT the phagosomes Of MacTopiages. ReEsistance 1o e

infection correlates very well with the depglapmirstREhKet leapanse. In order to
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prove this hypothesis, three groups of BALB/c mice were taken: control group,
IFNy ") group and IL-4 /") group. All the groups were infected with L. major and
then parasite load was measured in each group after 4 weeks. Which one of the

following results will justify the experimental outcome confirming the hypothesis?

L

Parasite
1 load

Control 1Nyt IL4tH

Parasite
2. load

Control  IFNyH  IL-4+F)

A

Parasite
2 lnad S www.FirstRanker.com




:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

i I | |

Control  IFNyEH  1L-4K1)

Parasite
4. |pad

Control  IFNYHF)  IL-4tH

AIHIT WO (Leishmania major), T TGRS SRUGES W GTeidl
ged &P $ HIEE! | a9 H3d1 3§ Yl I9-3 ST 7 | FHA F Oieriy
U Th1 601 U 984 3= ¢71 8 Gedaiid Eid1 8 | 39 SaUR o] g & &
f&u paLB/c TE! @1 o9 9 o T : HEIfa (control) GHE, IFNy ) THE @Yl
IL-4 &) g | 9 TR BT L. major T YA fan 1 qun iR 4 IwiE & UL

i
@1 ufy @med B vt SGw & 3T WR@ETstRanker.com
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Parasite
1 Ipad

l

Control ~ IFNy/  IL-41

Parasite
2. load

Control ~ IFNyH  IL-4¢F

Parasite
3. |oad

www.FirstRanker.com

www.FirstRanker.com




:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Control ~ [FNytH  IL-469

Parasite
4. load

i

Control  [FNY" L4t
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Receptor tyrosine kinases (RTKs) form a large and important class of cell surface
receptors whose ligands are soluble or membrane bound protein or peptide
hormones. Which of the following statement is INCORRECT?

1. All RTKs are transmembrane proteins with extracellular ligand-binding site and
a cytosolic domain.

2. Binding of ligand causes most RTKs to dimerize

3. Cytosolic tyrosine kinase phosphorylates a distinct set of tyrosine residues in
the cytosolic domain of the dimer.

4. Adapter proteins and enzymes involved in signalling pathways bind to different

phosphotyrosine residues via a conserved polypeptide domain called SH2
domain.

www.FirstRanker.com
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UTE] TR BIgHoiel (RTKs) PITPT Gelg Alledl B1 U fq211el Ud Heayul &
§1d § forads Ger-T o= 31 fieell sae UIdH 41 Uwigs g & | Fifed
D I U Tad 87

1. it RTKs BINHER ITHI-g8 R 9Y T SIAHIdadl Y& & Y

URfafe Ui &l

2. B RTKs BT U1 & FIY HERE 37 [gdd- & BRS g-d1 g

3. BTG 2RI Pl fGad & iR@faad! uad ¥ s agdl &
Uo fafdre 9qg & BRBIRGd Hdl & |

4. TBTE UIEH a1 Ui H & fos Hdead Tl # I1fHd § Td O1féd Ueiuegs Uad
fST& sH2 U8 Ped &, 3 gr fafiT BREREIRYT 3gudl ¥ §4d ¢
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The following statements are made with reference to characteristics of
glycosaminoglycans and proteoglycans, which are major constituents of
extracellular matrix. Which one of them is INCORRECT?

1. Glycosaminoglycans are very long polysaccharide chains composed of
repeating disaccharide units of an amino sugar  and a uronic acid.

2. Except for hyaluronic acid, all glycosaminoglycans are covalently attached to
protein as proteoglycans.

3. Glycoproteins contain less carbohydrate usually in the form of relatively short,
branched oligosaccharide chains whereas proteoglycans contain more
carbohydrate in the form of long unbranched glycosaminoglycan chains.

4. Like O-linked and N-linked glycoproteins, in proteoglycan also
glycosaminoglycans are linked to serine or threonine and asparagine residues.

www.FirstRanker.com
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frifesd Byl & IRBEEATaE G-l 9yl TiftaraEe-l & Afbasel & ged o
911 711, SN b a1 U &1 Us W ued & | Eifdd 15 91 U e

87

1. TSP EIHAAEe- Ue THIAT UdhT 9UT U UHHT 3 & Madl SI5adiss
gem| Bl IAfd G1Y UriiidRigs 4@l ¢ |

2. BRI 3 o 3ffdfiad, 9i s aifi-ragd- Ul Sardsd-l & ofdl
YeOuel S U AT A S B S |

3. TSI I QIURUIGHT UETdhd @I, AEad HTadss Jaddsd o &4
o &1 Blaielege old & Jaid Hiedidigd-l § o Rad
AR IS G JEas & 0 8 T TEekac el s |

4, O-3dG TUT N-3dG Tas@ A ordl, Hifcaragd- 5 off
ARG IEIEHIE s SR 2ryar iR quT TR 3agdl 4 9SS e B
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Prostate cancer cells were treated with Drug A and Drug B in order to check the
efficacy of the drugs in arresting the growth of cells. The following results were

obtained:
Drug A Drug B

Level of T Leve| of T

expression expression
1 — —
o2 9 0 _ob ® 8 A0 b
A LY ‘b’dh i z 2% 0 W e
e lﬁ-{‘p A A~
L\gﬁ L\E#e c&ﬁ ﬂqﬂ-

Which one of the following statements is NOT correct?

1. Drug A targets the Wnt signaling pathway but does not lead to death of cells.
2. Drug B targets the Wnt signaling pathway and leads to G cell cycle arrest.
3. Both drugs A and B lead to cell death but targets different apoptotic pathways.
4. Drug A kills cells via the mitochondrial- independent pathway.

www.FirstRanker.com
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Gl o Sifrs1s &1 gfg @I AUdh- B &dl B TRE- & [ U iR
DIfBIAT DI U A (Drug A) 9UT 19 B (Drug B) T Iq=TRd fobar | A

gRome Ui e 1

Drug A Drug B
Level .::I‘T Level GET
expression expression
1 — —
o 29 80 0 L o0
z‘mﬁﬂﬂ&i};ﬂ':ﬂ"qﬂ bﬁx mém gﬂﬂé‘ Lﬁw:p,ﬁ Lﬁﬁ#ﬁ ?"""&i f-ﬂah
o e® OFF e
ifd 5 91 U@ &Y 95l AEl & ¢
1. AT A Wnt HdoaH UY 1 & Bl & U] BIAD1] & g BT BRS ol
CERIL
2. Y B Wnt Hoba Gy &1 ATEd Bl & a4l G, DIADT 9P & T HAC B DRED
GEGIE]
3. ST AUl A TYT B DIRIG 5 &1 RS S4d1 & U= ST HIRAD] Jog Ul
@I died Bl e

4. AT A DIRGIH B PABUB-EIHH T4 & FRI BIADI3 BT 34 Bl &
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A transgenic mouse was generated for both heavy and light chain specific for
MHC molecule H-2K™ so that all the B cells in this mouse therefore had BCRs
specific only for H-2K™ and made only anti- H-2K™ specific antibodies. By
appropriate breeding, the H-2K™ specific immunoglobulin transgene was
introduced into mice bearing different MHC genotypes H-2K" and H-2K™", With
respect to selection of B-cells within the bone marrow of H-2K™ and H-2K™" mice,
which of the following statements is correct?

1. In H-2K" mice, the transgenic antibodies will not be detected on the surface of
any of the B cells

2. In H-2K™" mice, the transgenic antibodies will not be detected on the surface
of any of the B cells.

3. In H-2K" mice, the transgenic antibodies will be detected on the surface of
some of the B cells but not released in the serum.

4. In H-2K™" mice, the transgenic antibodies will be detected on the surface of
some of the B cells.
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MHC 3] H-2k™ & fofu fa=iffid 1= U1 @Y $dal a1 & U U gReli-T g8l
911 711 ford o 50 g o 9l B SIf®13M § thad H-2k™ o fore fa=ifiid BeRs
¢ O dad Ufd H-2k™ fafree uforeial &t 81 IUgad U & gRI, H-2K™
fafare ufqeamaisgicH UReid ®f Udh 3T MHC SiIHURed H-2Kknddl H-2K™n
drct gg § UdR ST | H-2K" 9Ul H-2K™n ggl & SR goe H B- SIfdra
& 704 & g5 & Feifed o I dya 9El §

1. H-2k" gl & 5t off g Sif@e & g% W RS ufaeial &1 9gaq T8t
SR

2. H-2k™/n eI, T off g SIf@si & U8 W e uforafal &1 9g=- el
SR

3. H-2K" gl H, 7O B SIS131 & U866 W URwH! UfaRefidl &1 9= 8N I
O o gad 8l gl

4. H-2k"ngEi H T B DI & I8 W URSH! Wiaaial &1 9= gl
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Following diagram displays the MHC haplotype of a heterozygous H-24 mouse:

Maternal KKk A{IHB" EU“B" Dk Lk
MHC
Paternal
v | K¢l Aa®Bd |  Eadpe| DI L

How many types of MHC molecules will be expressed on activated macrophage

(M) and a normal fibroblast (NF)?

1. Mg 8 ; NF 14

2. M@ 4; NF 6

3. Mip 14; NF 14

4, Mipp 14; NF 8
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fifeed 3 Ue fauagast H-29/4 g8 & MHC gwilergy (AU ) gxiidl &

Maternal KKk A{IHBH EU“B" Dk Lk
MHC
Paternal
v | K¢l Aa®Bd |  Eadpe| DI L

GlenTid eaHaibDIRIBT (Mp) TYT U HHF dquy (NF) IR fbad UhR & MHC
HUHT BT Hfireufad grl 7

1. Mg 8 ; NF 14

2. M@ 4; NF 6

3. Mip 14; NF 14

4, Mipp 14; NF 8
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In C. elegans the SKN-1 protein controls the fate of the EMS blastomere which
generates the posterior pharynx. With reference to the above which one of the
following statements is INCORRECT?

1. The MS blastomere is able to generate pharyngeal tissue even in isolation.

2. Embryos from skn-1 (skin excess) deficient mothers lack both pharyngeal
mesoderm and endoderm derivatives of EMS

3. Embryos which are skn-7 null mutants will always make extra hypodermal (skin)
and body wall tissue.

4. SKN-1 activates MED transcription factors whose level of activity controls the
fate of EMS lineage
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C. elegans (1. Teili-g) T SKN-1 UIEH EMS ®R&Ws o afd &1 g0 odl &
Sl for Og 9=t @1 (A0 3l 5 | SR & OH # Fifed & 91 T $UA

Ted 87
1. MS PREOYS g g H 1t T9-1 Idd! &1 i X Thd ¢ |
2. skn-1 (T 3ffai@®) 31quf A1g T IG~ YOIl § EMs & SgaTaal TG+ HEe-wR

qUT SIGD Gl DT AU BT 8|

3. YUIf Sl fdh skn-1 I ARG &, Yad HfaRad reRddi (@) 94T ¢g i 3dd
CEIRIE]

4. SKN-1 MED 3fcia" ®Rd] ®l Tithd Bdl 6 forgd fhariicdr &1 &R EMs
d=nadt & Hafd @ FHafed st
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Maternal effect genes are extremely important in establishing the anterior — posterior
polarity of the Drosophila embryo. Mutant phenotypes arise when genes of this family
are mutated. The following table enlists genes and phenotypes observed on mutation of
these genes but not correctly matched.

Gene |Mutant Phenotype

A. Torso |i. No abdomen, no pole cells

B. Vasa |ii.Defective oogenesis
C. Oskar |iii. Head and thorax deleted

D. Bicoid|iv.No termini

Which one of the following combinations is correctly matched ?

T.A-ii,B-i C-iii, D-iv
2A-i,B-ii,C-iv,D-ii
3.A-iv,B-ii,C-i,D-iii
4 A-i0i,B-iv,C-ii,D-i
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arg SA®HR S Siifthal YUl & HY-UK gadl & U] & U 3 Heayu]
& | 39 TE & oHl & Jdafad ®3 4 3diiad! auIEy U 8id & | FE
URUR g SiHl & IdRdad URdld Uhdiaid iy T TevmRey aul Skl o gl 4G
Fd e R Uel U T & |

SiH IAREd! TEUMEY
A. 2 (Torso ) . JoX UG, Yd DI HuRYT
B. @& (Vasa) i. Ffeqef ergeA
C. HR@BV (Oskar) iii. R qur 9 faaifad
D. /975103 (Bicoid) iv. 3fd® FuiRd
i d & 9 U =90 gHiad 8 2

TA-ii,B-i, C-iii,D-iv
2A-i,B-i,C-iv,D-ii
3A-iv,B-ii,C-i,D-iii
4 A-ii,B-iv,C-ii,D-i
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The hedgehog pathway is extremely important in vertebrate limb development,
neural differentiation and facial morpho-genesis. In accordance with the above
statement, what would happen in mice that are homozygous for a mutant allele of
sonic hedgehog (shh)?

1. Limbs would form normally but the mice would have facial abnormalities.

2. Midline of the face would be reduced and a single eye would form in the
center of the forehead.

3. Eyes would form normally but digits would be malformed.

4. Mutations of shh may activate tumor formation if Patched protein can inhibit
the Smoothened protein.

eolell U4 BRE@! H Ulg faog, dfe SR aur 98k & SRaa e &
fo1u o0 Tyl @ | SWIdd BYF & HJUR, U e | &1 el <1l [ T
IARaa! faded! TS B8 (shh) & [T THTHS] 87

1. OTGI @1 TG 16 B8R UR] de H det &1 SRaTMTidddl gii|

2. deX DI HEE Bl g1 S aUT SdHUTe & 99 ¥ Udb Uhd -3 fadiad g |

3. 31 &1 YR T3 811 U] <F1ferdt sraryifas g |

4. shh ¥ IaRaad 3@e FA0 ®f OfFg TR T@dl & 96 U8 (Patched) TieH
W(Smoothened}ﬁﬂ?ﬂﬂﬂ‘mﬂmﬂaﬁl
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8024375141. 1
8024375142.2
8024375143. 3
8024375144. 4

Question Number : 97 Question Id : 8024371287 Question Type : MCQ Option Shuffling
Correct Marks : 4 Wrong Marks : 1

In Xenopus, the Noggin protein, accomplishes two major functions of the

organizer: it induces dorsal ectoderm to form neural tissues, and it dorsalizes
mesoderm cells. Which one of the following observations is correct with respect

to Noggin?

1. If a plasmid clone expressing Noggin protein is microinjected into a lithium
chloride treated Xenopus gastrula, it should rescue the abnormalities induced
by lithium chloride treatment.

2. If a plasmid clone expressing Noggin protein is microinjected into UV-treated
embryo which does not give rise to neural tube, it will rescue the abnormality.

3. RNA in situ hybridization of noggin cDNA on Xenopus embryc will show its
presence in all regions except the dorsal blastopore lip.

4. Microinjection of noggin mRNA into the embryo region fated to make the
ventral part will promote its ventralization.

com

: No Is Question |
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G????’W[Xen&pus}ﬁﬁﬁﬂ (Noggin) WW$@WW$TW
@d &: U8 JBH dfea-eRk @ diHdl SHdd §H & ol URd &d &, 9ul U8
HEIoER BIL@e B R &0 8l AnH @ e & =ifed o5 a1 @
Hadidp Yel 67

1. TG T AT Ui DI 3ffiodad ® g Ueod aaliF @ [y wiRigs Suid
F/gF TS H geAsid: &9 a1 WY, ol SHe! fAfigd wIRgS IUaR URd
fguaaral ¥ FRaid $e1 I1ed |

2. Tfg Ui FIFTH UIEH B i ® Ugod &ii- @I UV- JudiiRd Yol H J&asia:
&fta fopan o oo ST el Fal &< & di U6 fawaarsdt O e &l |

3. 199 YOI W IR cDNA &1 RNA WM (in-sity)  BIRGSSolRH SUb
Sufeufa & gl wamEt ¥ gxiem fqay srdad-a1 HeRI S |

4 T mRNA & YUl & 3R YN a4 & forg (Aféne a3 F gagsia: guu gad
R0 B Urdifed ST |
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Antennapedia protein expresses in the thoracic segment of the fly and not in the
head region. However, a dominant mutation of Antennapedia replaces antenna
with leg-like structure.

The following statements were made with reference to Antennapedia:

A. In a dominant Antennapedia mutant, the Antennapedia gene is expressed in the
head as well as in thorax.

B. In the Antennapedia mutants, the Antennapedia gene is expressed in head
region only and thus promotes leg-like structure in head socket

C. In addition to promoting thoracic structures, Antennapedia protein binds to
and represses the enhancer of homothorax and some other genes responsible for
antenna specification.

D. Antennapedia has no role in thoracic region specification and thus recessive
Antennapedia mutants show no phenotypic effect.

Which one of the following options represents correct statement(s)?

1. A only
2.AandC
3.Band D
4. B only
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Correct Marks : 4 Wrong Marks : 1

ufeATditEa Uiy BoHas & 9aia Ws o sificgad gial & oyl RR e | =7e
BId11 T gf2difsgran Uhb UHIdl 3dRda 4RicT &l I 922 W< 9 URdaH
®d 5 | UfeamditEar & dey § = oy a9

A. U UHIET O27rdiiearadanadl |, Ji<7rdiisgroi (aR auT 9y gi & |
ST Bl & |

B. Ofeiafear3aiialddl § gferdifagrei- baa RR & &3 # € sfifouad sid &
U1 39 UHR IR TideT J T e IaA & Uidlied & &

C. 3t Tl &l Urdlied @3- & 3Mfaiad, Jc/g/sarue gy aul
T8 AR o St & yfifer & e & . Sover &, 3 Yaftors 4
dedl g Tl SfHd SR g |

D. 3&fTa el & faffye & tf=arditsar @1 @i Yfae® 981 & au1 33 st
gieardiiegraaiadt oig i dammEdl Uyd 98l GRIld 8|

fifed ®F 91 U@ oy U981 Su/HY! &1 G 87

1. Had A
2 ATYUTC

3. BOYUTD
4. Hdd B
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The development of anthers and male gametophytes is highly conserved among
angiosperms. Following are some of the events associated with pollen
development, in random order.

(a) Microsporogenesis in pollen sac to produce a tetrad.
(b) Asymmetric division forming immature pollen grain.
(c) Archespore division.

(d) Division of generative cell to form two sperm cells.

(e) Callase digestion to form free microsperes.

Which of the following option represent the correct series of events during pollen
development?

1.(@), (b) (9 (d) (e)

2.(c) (@ () (b) (
3.(a) (9 (d) (b) (g)
4.(c) (e) (a) (b} (d)
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Hgdsteial ¥ WA 9ul R JHDIREEl o [GHr Hdite Wigd g1 F=ifed
DS YA WATHY & [doy & G T 8, AfFafa sa o |

(2) WD T Iqeed & HH101 & fou ayeismeH- |

(b) MURUGd TRAT & & o 19 [GUeH |

(c) 31 &= |

(d) &l Y1 i@ &l g9 & o IdeE BIfRH! &I faueH |

(e) T TS B S & foTT dhais e |

fifeed ®F 91 fadcd WATHUI fad™ & GRH & ge13l &1 Jal Y O fe@rdi a?
1.(a), (b), (g, (d) (e)

2.(c), (a) (e) (b) (d)

3.(@), (c) (d) (b) (e)

4.(c), (e) (a) (b), (d)
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Following are certain statements regarding C; C3 Cs and CAM carbon
metabolism in plants.

A. In C; cycle, one molecule of 3-phosphoglycerate formed during carboxylation
phase is utilized for the biosynthesis of sugars, fatty acid and amino acids

B. During C; cycle glycine is transported from peroxisome to mitochondria and
glycerate is transported from peroxisome to chloroplast

C. The concentration of CO; in bundle sheath of C4 plants is several fold lower
than the external atmosphere

D. The stomata of CAM plants open at night

Which one of the following combination of statements is correct?

1. Aand B
2. BandC
3. AandD
4 BandD
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fifed o Y Gl T ¢, €3, C, TUT CAM BT UM b e T 3 |

A. C; % H, PElGaad & GRM 84 gU 3-BHRERIHIE &1 U U] JH, a1
37T T 3T 3 & SIgHauY § UG & ol &

B. C, O & G TaIg U & RYH-RU WRATFHTE O Pohftml  HF quT fieae
B RFRU WA 4 gRaaa® A gidi g |

C. C, Nelf & Yeiresa § Co, B Ursdl 9ledl adiaeul 4 &g I &Y Bldl ¢ |
D. CAM Uyl &1 38 UfA H el it & |
HUH| @ (Hifaed ®1H T U6 Hal ol 6 ?

1. AdUIB
2.BdYUlC
3.ACYUID
4 BdYUID
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Following is the list of cellular responses of root hair to bacterial Nod factor and
timing of their induction, which may or may not be matched.

Response Timing

A. Membrane potential depolarization I. within 1 min

B. Ca®* spiking in and around root hair cell nucleus II. within 10 min

C. Root hair growth perturbation, pause in growth, lll. over a period of
curling hours

Which one of the following is the correct match ?

1T.A-i B-ii, C-iii
2.A-0i,B-i C-iii
3.A-ii,B-i,C-ii
4 A-i, B-iii, C-ii
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fifeed gl ga af @1 sfiaifias Nod RS & (6T SIR@Y uidfhar au 36
Wdc le @l G=iidl 8, offl gHfeid gl AT =gl Y gl Udhd & |

PIGIER] OOg-UAdh
A Wﬁ"ﬁﬁw i. 1 min @ 3G
B [ DI® 5® 4 W IRIWE Ca2* i, |10 min & 342

i

C [HaduM dis Aldsd, gfs | o, oad ii. [G2l DI I H
f=ifded @ 91 TP Yol Hd 67
1. A-i, B -ii, C - iii
A L
SR~ B-1C0
A A-i B -iii, C - ii
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Plant growth hormone receptors, namely TIR1, GID1, COI1 and PYL1 were
knocked out independently in Arabidopsis plant. The resultant plants are named
as tirl, gid1, coil and pyl1. Which one of the following statements regarding the

above Arabidopsis plants is correct?

1. tir7 is defective in ABA signaling while coi7 in gibberelline signaling
2. gid1 is defective in auxin signaling while py!1 in JA signaling

3. cot1 is defective in JA signaling while pyl7 in ABA signaling

4. tirl is defective in gibberellin signaling while gid7 in auxin signaling

Uley gie SMH ifedi, 9 f& TIR1, GID1, coit TYUT PYL1 &I TefasiiEe
(Arabidopsis) UTGU H Wd-d ¥4 ¥ FFua favar mar | oo 9t &1 tir1, gid1, coil
and pyl1 ST HIGd foa T4 | SWRIad oEermy Yl & ey | Feifad
©IF 91 Ud &Y 51 87

1. tir1 ABA Tabdd H Afequl 8 Safd coit foraifem daod= H1

2. gid1 3HTiee GaraA 1 Ffequl § oafd pyl1 JA Ghda | |

3. coi 1 JA Gava | Ffequf @ 9iafd pyl1 ABA baa H |

4. tir1 Tordfe daba o Ffequl 8 Safd gid1 Siffda dhaT 1 |
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8024375165. 1
8024375166. 2
8024375167. 3
8024375168. 4

Question Number : 103 Question Id : 8024371293 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Followings are certain statements regarding phytochrome-mediated signal
transduction in Arabidopsis:

A. phyA and phyD are photo-stable, while phyB, phyC and phyE are photo-labile.

B. Prolonged light exposure and the conversion of PgrA to PrgA cause phyA
concentration to drop.

C. Exposure of light and conversion of Pg to Prg cause movement of
phytochromes from the cytosol into the nucleus.

D. phyB lacks nuclear localization sequence and depends on transporter protein
for nuclear import.

Which one of the combinations of above statements is correct?

1. Aand B
2. AandC
3. AandD
4. BandC
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fifed o By TFslilg (Arabidopsis) T § UrGUaUih -0 Ydbd URITH

o dcd i e

A. phyA GYT phyD UBIRI-YEG &, Sdith phyB, phyC TUT phyE THRI-HRRR B |

B. GIUdIa UHI SFTGI0 TUT PrA Bl PrpA H TR phyA TEdl & UdH @I
IROG |

C. UI 3G aYT Pr @1 Prp H WU & BRU UIGUAUid] &1 Sifd@iaay
U 5o H YEFU A& |

D. phyB & 5t MG 3FHH BT 3HTd 5l & aul d5d H AT & fag
gf@e® UeA R R ears |

SWRIGd HUH B S 91 UH Hd Yol 6 ?

1. AdUIB
2. AdYUIC
3.ACYUID
4. BdYlC
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The gene encoding for mevalonate-3-kinase is disrupted in a certain plant. Which
one of the following statements concerning the above plant is correct?

1. Mevalonic acid 3, 5-biphosphate will be synthesized, while there will be no
synthesis of Mevalonic acid 5-phosphate.

2. Mevalonic acid 3, 5-biphosphate and Isopentenyl  diphosphate will be
synthesized.

3. There will be no synthesis of Mevalonic acid 3, 5-biphosphate but Mevalonic
acid will be synthesized.

4. Acetoacetyle-coA and Mevalonic acid will not be synthesized.

B Qg T AAIAHT -3-BI59 & de-d B4 aldd o aNdd 8id & | SWRiad i &
dey | FHiied $H 91 U Y U8l o7

1. HaTAIH® 3 3, 5-favmhe &1 YIA90 81, Safe Haldi—d 3 5-BRbe
@1 Y=Y el s

2. HaTaiAd® HEd 3, 5- [STprEhe gyl HEO=I—d SRbEhe T Y90 ghT |

3. HaTEA® 3 3, 5-[aTpRe &I YA el 8N W] HardHd 3T B
T BT |

4, TSIt d-coa YT HaTAS T T U=CWl Tal sl |
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Question Number : 105 Question Id : 8024371295 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Plants perceive effector proteins from pathogen to mount a strong defense
response. The following statements were made regarding signal transduction
events upon perception of a pathogen.

A. Influx of Ca®* and H* ions into the cell

B. Influx of K and CI” ions into the cell

C. Efflux of Ca* and H* ions out of the cell

D. Efflux of K™ and CI” ions out of the cell

Which one of the following combination of statements is correct?

1. A and B only
2. A and D only
3. B and C only
4. Cand D only
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1Y) Uch URTad WIcRET Sfeha RIMUd ®- @ [e7U IRTed & YHIEIdIGs UIdH! ol
TR ®d & | Ut IMeHE & TR 34 U 81- didd Yabd URITHA ge-rei & g4 #
fifeed Sy g9 1Y |

A DIDT H Ca* TUT H* 310! 31 3i<idig

B. BI®I H K* qUT CI- G-I &7 3dig

C. DD & §182 Ca2* TUT H* - 3T & dfedig

D. BITPHT & dIe K* 9YT CI- 3! &I digdig
FY BT P G Hd Yol g ?

1. AdUIB
2. AdYUTD
3.BdYUlC
4. CdylD

The action potential recorded from pace maker tissue (SA/AV node) of
mammalian heart is shown in the following diagram:

n n
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mVy

VAV,

Time

On the basis of mechanism of generation of action potential in pace
maker tissue (SA/AV node), the following statements were proposed from the
above figure

A. funny’ channels are activated at 'b’
B. Outward flow of K™ occurs at ‘a’
C. T- Ca™" channels are closed at 'c’
D. Fast Na™ channels are opened at 'd’
E. The upward phase at ‘d’ is largely due to inward movement of Na™
Which one of the following combinations represent correct statements?

1. Aand B
2.Band C
3.Cand D
4. DandE
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Correct Marks : 4 Wrong Marks : 1

WU gad & Tid Fame $a@ (sa/av ER) ¥ Mieied e T i fayg

i d
&

-
£

=30 4=

-60 4= &

(=]
Time

nfd fFame Sad & Iaied s ard fhar fava o feafaf & enurR W, Iuiad
3R H 1 Hy+ u=anfad e 77e |

A.'b' TR BT (funny) UOTTcH Gfhd BIATE |

B.'a K PIARI AR BIAI 5 |

C.'c R T-Ca™ UUMH G gl & |

D.‘d' TR gd Na* TUITH GaAT S & |

E. 'd' U HRIE] UIg=I] JIadl Na*® & =038 TH-FHE U gidl &
fFrifed ®H W1 U@ Ad 91 ouHl B glidl § 2

1. AdUIB
2.BdUlC
3.CdUID
4 DdYUTE
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Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Some metabolic aspects of the Red Blood Cell (RBC) are proposed in the following
statements:

A. Synthesis of fatty acids does not occur in the RBC
B. The pentose phosphate pathway is operative in the REC
C. RBC cannot synthesize reduced glutathione (GSH)

D. RBC does not contain enzymes like adenosine deaminase and pyrimidine
nucleotidase

E. NADH-dependent methemoglobin reductase system is present in RBC
Which one of the following combinations is NOT correct?

1. Aand B
2. BandC
3.Cand D
4 DandE
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8024375188. 4

Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

T ¥ad BIRIDT (RBC) & P U=yl Geqa o (4= oyl o uxdifag faar man &:
A. RBC ¥ T 3%l Bl YW g1 glal & |

B. RBC H UcIs e UY PO gl g |

C. RBC 3{Ufdd T3 (GSH) &I YN gl & gaod] |

D. RBC ¥ ufeHiftA feufts aur dikfifed gfdaaiicss s t=ga el gld & |

E. RBC H NADH- THIRd HYHIe Igacsl Wumell SuRd gidl - B

fFifeed &1 1 us 7 9El 78l o7

1. AdUIB
2.BdYUlC
3.CdyID
4 DdYTE
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Insulin is a heterodimer made up of A and B peptide chains joined by the intra
and interchain disulfide bridges formed between amino acid of respective chains
as suggested below:

A Ag Ay

B. A7 B

C. Azg Big

D. As Bys

Which one of the following represents the correct disulfide bridges joining A and
B chains of insulin hormone?

1.A,Band D
2A CandD
3.A BandC
4B Cand D
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oIy e =i 1 §, 5-gfe Uil s ayT 9efid gaars & did a4 SiaR gyl
HRYEd SeUhIgs Ud U oS gU A dY1 B ULTSS Sa@disi o Uh fauafgad g

A. AE All

E'A? B?

C AEH Bl'}

D'AS BlS

f=ifhd ®1H T Ud e 819 & A TY1 B ggared @f Sied ald Gdld
SEUPISS Ud 3! Gidl 87

1.ABJYUID
2.A CdYUID
3.ABdUIC
4 B, CdyID
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Fibrinogen, Factor |, is a soluble glycoprotein present abundantly in plasma.
Following biochemical characteristics are given below about this glycoprotein:

A. It is a dimer of the three polypeptide chains(A, Bg y)>

B. It is a dimer of two polypeptide chains(A, Bg);

C. The chains are covalently linked by 29 inter- and intra- chain disulfide bonds
D. The chains are covalently linked by 19 inter- and intra- chain disulfide bonds
Which one of the following represents a combination of correct statements?

1. Aand C
2. BandC
3. AandD
4 BandD
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BIgfeeH, BRS |, T H Y=Rdl H Ul 9 arel U Jo-ia igeivic 6 |
U ARG & G H i SaeEie st iR T E:

A. T TIF UTIUETES 3aest (A, By y), 1@ Gad & |

B. T8 Gl UTCiUeTgs 4@arstt (A, By), ®1U® fGad @ |

C. $GaY 29 JAR-TYT HiaR- Y&l SEUchIgs & Y eudiel €4 I 9 sid
gl

D. $3GCY 19 SHR-TYUT HcR-Y@ell SRAcHS A= § gadioll &0 4 9s 5ld
gl

fifded S W1 U et dy! &l Jd Uid Sl 87

1T AJUIC
2.BdUlC
3.ACQYID
4 BdUID
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Testosterone is a steroid hormone about which a set of statements are given

below:

A. It is secreted by Leydig cells of testes.

B. It is secreted by Sertoli cells of testes.

C. It inhibits secretion of luteinizing hormone from anterior pituitary.

D. It does not inhibit secretion of follicle-stimulating hormone from anterior

pituitary.

Which one of the following combinations represents correct statements about

testosterone?

1. Aand C
2. BandC
3.Band D
4 Aand D
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ST Ui TGS gHH & o aR § Byl &1 Uh 94 -id faar 141 &;
A. T8 guU & QST SIRIepTH gRT Sifdd 8T @ |

B. T8 QU & WRalc BIRdrsi gRIAfad sl ¢ |

C. T8 ¥ UIgfiie] 9§ Yes g Heioi g & 91d @f Adhdl & |

D. g 34 UGt T Yedh- Jeiud g & Iid ! Jal Adbdl 5 |

Fified ®F U1 U Hel SRR & 9R Tl DY DI U¥dd Hal o7

1T.AGUl C
2.Bd4l C
3.B4d4l D
4 AU D
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A scientist synthesized four new chemicals which had mutagenic potential and
named them as C1, C2, C3 and C4. He tried to analyse the nature of mutations
caused by them and obtained the following results:

Mutations Mutation reversed by

produced by

mutagen 2-Amino  |Nitrous Hydroxyl Acridine
purine acid Amine Orange

C1 Yes Yes Some No

c2 No No No No

3 Yes Yes No MNo

C4 No No No Yes

Which one of the following answers describes the mutagenic potential of
the chemicals?

1. C1 causes transitions, C2 causes transversions or large deletions, C3 causes
transitions and C4 causes single base insertions or deletions

2. C1 causes transversions, C2 causes transitions, C3 causes transversions and C4
causes large deletions

3. C1 causes large deletions, C2 causes transitions, C3 causes transversions and
C4 causes single base insertions

4, C1 and C3 causes transversions while C2 and C4 causes transitions
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8024375203. 3
8024375204. 4

Question Number : 111 Question Id : 8024371301 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

% 331D = IR 98 Trg4! &1 TRaftd fovar ford Safiadae- &fdl 8 aul 376
C1, C2, C3 TYT C4 91Y AMHIdd gl | 4 39 gRI §1F did SdRdd-l & Hald @l

& forar qut =1 ool &t ure foeam:

SANGaTal  [3@Ngad & 590 gRI Uidaaiiad fdar T

GRI 3diiad :

Safadd 2UHl [EeE EReEad  [Ufed HRd
RA 3 HEE]

C1 il gl ] ol

C2 el el el el

3 il g Tl el

c4 Tol T8l T8l Bl

fAmifehd @ 91 U Ik TIEA! &1 SARGd-ToH! &HdT &l afold &edl 87

1. C1 ¥ GHH [‘transitic:ns]lEﬁf‘ﬂ%“r Cziﬁm (trans- wversions) g7 fa=me
fdciiu4 gid1 8, €3 U UshHU gl & dUT C4 U Uohd &R (43 g1 fadiu- giar g |

2.C1 Y gadq eldi &, C2 U YhHul gidl &, €3 U Si=add-g sidi 5 ayl ¢4 I fa=md
faaiu- gl & |

3. C1 Y fqe fadiud glar g, c2 Y dpuul gidl 8, €3 U gi-uad-g siai g durc4 9
Ul &R Az BT g |

4.C1 Y1 €3 Y Ti-9ad-g Bidl & Siafd C2 9UT 4 Y IhaU eidi & |
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Options :

8024375201. 1
8024375202. 2
8024375203. 3
8024375204. 4

Question Number : 112 Question Id : 8024371302 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Fertilization of gametes containing chromosome with duplications or deletions
often results in children with disabilities.  What is the probability of a couple
where the male is karyotypically normal and the female has a pericentric inversion
in heterozygous condition producing a child with disabilities if crossing over took
place within the pericentric inversion in 26% of meiotic divisions?

In this case consider that fertilization with a gamete containing chromosomes
with duplications or deletion will result in disabilities.

1. 26%
2. 13%
3. 25%
4. 50%
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feauET a1 fadie=! ard oRET ¥ gad gEel & F89d § 3a- g 9=l § U
fap ATy (emany) et & | afg 26% g fauremt & fafm ufte ufada
@ 3G gidl & dl Us giTe o R UREANEUT W & 9yl arel | fawagsi
AR H U URd-! Uiae- g df 994 Sdiied U aw | [ddaiTald (&)
TiH @ TRl &1 gl

<4 H1Hc 98 AFGR 9 b [§70H! a1 faaiu=i arel oRE! 9 gad THa! & FHueH
¥ famarTan (3f&Hdn) 3d—= el |

1. 26%

2.13%

3. 25%
4. 50%

In D. melanogaster, traits 'a’, ‘b’ and 'c’ result from recessive alleles that are
located on one of the autosomes. The resulting F females were test crossed and
the following progeny (total of 1000) were obtained:

a b c 350
abrc 25
a b c 380
a b'c’ 35

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

a b'ce 100

g b c 10
a bct 85
a b*c 15

The following conclusions were made from the above data:
A. The order of genes is a b c and the distance between a and b is 8.5cM.
B. The order of genes is a c b and the distance between a and c is 8.5cM.
C. The order of genes is b c a and the distance between b and cis 21cM.
D. The order of genes is c b a and the distance between b and c is 8.5cM.
Which one of the following options represent statement(s) that is/are correct?

1. A only
2.AandD
3.Band C
4. D only

www.FirstRanker.com
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E1 AE17EY (D. melanogaster) B, faf¥medIt o', b’ qUT ‘¢ 3Uyd gfddmed! 9
Id eld & 9l for el IR 3af@d & | U aUuEy Yagisl badad! of Uh
JARaldd BaraE § Tar sl T fomd gt diF fafmeant g1 afvor F,
Arer3t &1 u&m TH® T ST 1 aUT FE (@  1000) Fafadi Ui B T

F; jat 2 1 o 350
a b 25
a b c 380
a brc 35
a br 100
a b c 10
F b 85
a e 15
IR el Y FHHiihd (Hwwy Hard T

A SHIDBI BT ab cdUaTd b & did B G 8.5cM B |

B.OHI I #H acb g Ul a Td c & &id DI gil 8.5cM &

C.oOlH DI HHbcas ddl b Td c & &id BI G 21cM E |

D.WHI B ®HHcbat dU b Td c & dld B G 8.5¢M © |

Fifeed o1 91 Us fadb ey 3 fdbcu/fah el oI <2idl g S 981 82

1. &ad A

2 ATUID
3. BYIC
4. HdI D
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8024375210. 2
8024375211. 3
8024375212. 4

Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1
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The table given below shows the Lod score values of three different pairs of genes
studied for assessing if they are linked pairs:

zene Pair '1° zene Pair 2 zene Pair '3

Lod Score 1 2 3

The following conclusions were made from the data given above:

A.  For gene pair 1 the probability of the genes being linked is 10 times more
likely than them assorting independently.

B. For gene pair 2, the Lod score 2 indicates that the probability of the genes
being linked is twice more likely than assorting independently.

C. The genes of pair 1 and 2, can both be considered as linked, while the genes
of pair 3 exhibits independent assortment.

D. The genes of pair 3 can be considered as linked.

Which one of the following options represents statement(s) that is/are
correct?

1. Aand C
2 BandD
3.Aand D
4 AandB
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8024375216. 4

Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Fifaed GRolt I fafe= il & SifSal & Lod UIdics Jed I GRIid] & foral
HOTH 39 910 & oE- & oy fiear T & 4 g oifsal & a1 Tt

S Sel 1 | A wet 2 | S wel 3

Lod UTdi® 1 2 3
SRIFd SHids! 4 HH sy Hard 10
A SIS 1 & R ST & Geae g1 B TRIIaT 9% Wad SUdET g4 4
10 THT 38 THIA B |

B. wiH il 2 & AT, Lod Uit 2 GRIAI & [t WHI & Too oi- P GHEA
T USIET & 9 &l 7T SHfHd U & |

C. SISl 1 TUT 2 B o, GiHl B G- JF1 ol 9bdl &, J&id slial 3 B o
¥add SUgg- GRIidl & |

D. WSl 3 @I oliFl &I Geor- JH o 9bdl & |
=ifded ®F 91 U fadhed ®Y-/® YAl @I GRIIdl ¢ ol [ 9eid o7

TAJUIC
2 BdUID
3.ACQYUTD
4 AdYIB
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8024375215. 3
8024375216. 4

Question Number : 115 Question Id : 8024371305 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Gene 'A’ in mouse is needed for its normal growth [normal size]. Mouse strains
with deletion in gene ‘A’ (A%") have been developed.

When the following cross is made
QA A < AAS

all progeny (both males and females) are of normal size.

When the F1, progeny with the following genotypes are crossed:
2 AdelAx ap ©

50% of the progeny obtained are small in size.

The above observation can be explained by:

1. Maternal inheritance
2. Maternal imprinting
3. Paternal Imprinting
4. Maternal effect
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Question Number : 115 Question Id : 8024371305 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

I8 H UM gle [T ATBR)] & 0T Wi A* D1 H1a=gddl gidl o | gl &1 Tl
ol fam i favan a1 e i A faeifta § (ade)

g = @R SR T
Q Adel A x AAS
i 9afadl (9= ud |l g 1 HHR IEM & | 9d [ SiFued| ard
F1 Gafcrdl &1 THSR01 BRI T
AdelA x ap O
509 U Ydfadl & 3hR Biel g |
SIRIad Hadie- &I 394 afvld [l of T&dl & ;

1. HIgdh 9P
2. 7D AL
3. Uqd HEDA
4, HIgH gHE@
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In a mammal, coat colour is governed by gene B, The coat colour is either black or
brown, depending on whether the genotype is BB or Bb. It is not known which of
these genotypes lead to the black and brown colours. The genotype bb results in
albino coat colour. Further, the genotype cc suppresses the expression of coat
colour resulting in albino coat colour. An albino male was crossed with a brown
female and the resulting progeny had individuals with either black or brown coats.
From this observation it can be infered that the genotype of the male and female

that were crossed are:

1. BB cc and Bb CC, respectively
2. Bb cc and Bb CC, respectively
3. bb CC and BB CC, respectively
4. bb Cc and BB CC, respectively
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s WHYRT 8, S0 (@) &1 T 54 B g1 Fafad 8ia1 & | S1aur &1 &1 41 di
DIl & 3Ydl YR & ol b 39 a1d R (1R & fos SfiHuE=u BB 2 a1 b © | T8 F1d &l
e fb 370 ¥ @ O SiHuEY &I 9yl Y T & SRS gl AHUEY bb Udd
(@Uidgi) AU &1 T 30~ Bl & | dGURI, SR cc a0 T & Hfieafad
@I &fd $d1 & URUTTEGEY ¢dd ¥ &1 &0 30 gldl & | U 4dd R @l
TSRO 4 HIGT ¥ DAl T quT uRomH! dafadl # a1 di e a1 431 a0 Sa-
g3 | 39 JHgald- 4 g8 ey fAdbre o God! & fov U &l T/ R auT 9@l
@ SIS B

1. BB cc AYT Bb CC, HATER
2. Bb cc AT Bb CC, HHTER

3. bb CC TUT BB CC, HHMER
4. bb Cc YT 88 CC, HATER

The diagram below shows the floral diagram of the family Malvaceae. Parts of the
diagram have been labelled from A-D.
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Floral characteristics

Monothecous stamens

Syncarpous ovary

Epicalyx

Fused sepals

D
Labels
A I
B I
C il
D v
v

Apocarpous ovary

www.FirstRanker.com

Which of the following combinations represent all correct matches between labels

and floral characters?

1. A-iv: B-v: C-iii: and D-i
2. A-i B-v: C-iv: and D-ii

3. A-iii: B-ii: C-iv: and D-ii
4. A-it B-ii: C-iii: and D-iv
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Question Number : 117 Question Id : 8024371307 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1
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WWW[maIvaceae]@%ﬁﬂ&ﬂi@ﬁm% | 3 & YT B

A - D ¥ 3ifded fooar T B

3HA o} siftreat
A i OIS Y Jhar
B i qadisul SR
C ii dfegaysl
D v  [ETied geled

v  [[agadisdl HsEy

Hifchd B &1 U fadhed odl SHTAN qUT 3! &1 Fgl Hel Uegd ddl o7

1. A-iv: B-v: C-iii: and D-i
2. A-i B-v: C-iv: and D-ii

3. A-iii: B-ii: C-iv: and D-ii
A A-j B-jis C-iiir and D-jv
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Options :

8024375225 1
8024375226.2
8024375227. 3
8024375228. 4

Question Number : 118 Question Id : 8024371308 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1
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The following diagrams (A to D) show characteristic arrangement of stamens

within a flower and (i) to (v) enlist families of plants.

ey

i. Cucurbitaceae
il. Fabaceae

iii. Malvaceae

iv. Asteraceae

v. Euphorbiaceae

Which one of the following options has all correct matches between the

arrangement of stamens and the families they belong to?

TA-v;B—ii;CHii; D - iv
2 A—-iii;B-i; C—iv; D -ii
JA-IiB-iiC—vD-i
4 A-v:B-i:C—i:D-iv
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Question Number : 118 Question Id : 8024371308 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

9 S (A T D) Ueb qoa I JobOR| ol SAfciafon fa=amg, aur () 9 (v) 3l & ool
@ G ddl & |

i W(Cucurbitaceae]
ii. el ( Fabaceae)

iii. ma?‘#r ( Malvaceae)
iv. Q’Ei_\[ﬁ ( Asteraceae)

um{mphorblaceae)
FHifeed fod U fdhed § YRl & fa9rg ay1 o9 @d ¥ d 9ai4d 8, 399 aid

&1 Yol Hd o7

T.A-v:B—ii: C—ii: D -
2. A—iii; B—i; C—iv; D - i
A B—ii;C—iv;D -1
4 A—-vB-i:C—i:D-
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Correct Marks : 4 Wrong Marks : 1

www.FirstRanker.com



A Firstranker's choice

:l », FirstRanker.com

www.FirstRanker.com www.FirstRanker.com

The figure below shows reptilian skull types (A to C), class of organisms (i to iii)

and examples of animals (X to Z).

i. Diapsid  X. Ichthyosaurs

ii. Anapsid Y. Snakes

iii. Euryapsid Z. Tortoise

Which one of the following options shows correct matches between the three

components?

1A Y Biii, Z; C i, X
2B i, Y, A i, X; Ciii, Z
3.A0,Z B i, X Ci, Y
4. B,iii, Y; A ii, X; C i, Z

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Options :

8024375233. 1
8024375234.2
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8024375236. 4

Question Number : 119 Question Id : 8024371309 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1
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fifeed Tars Gy Wiyl &t ueR (A T ¢, &ildl & 9ot ¢ ¥ iy, Ul
SI=q3l & 3aedu (X Y 2) GRid € |

i. Diapsid X. lchthyosaurs

ii. Anapsid Y. Snakes

ili. Euryapsid Z. Tortoise

ifed @ U1 UF fd®cd IWIad diF 3a0dl & &id & el Ha Gidl g ?

LAY, Biii,Z, C i, X
2.B i, Y, AiX; Giii, Z
3.A0,Z Bii, X; Ci, Y
4. B, iii, Y; A 0L X; G, Z

www . FirstRanker.com
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Column I list names of organisms and column Il list stages in life cycle.

Column | Column 11
A |(Taenia i. |Hexacanth
B [Obelia ii. |Glochidiom
C |Unio iii. |Planula
D [Balanoglossus iv. |Tornaria
v. |Miracidium

Which one of the following options represents all correct matches between the
two columns?

1. A-ir B-ii: C-iiir D-v
2. A-iii; B-ii; C-i; D-v
3. A-ii  B-iii: C-ii: D-iv
4, A-ii; B-v; C-iii; D-iv

www.FirstRanker.com
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®IcH | Sial & A qUT BicH || g @56 B a1l B Ydidg Bidl ¢ |

DIcH | DicH Il
A SITT (Taenia) . YSPHI (Hexacanth)
B J@ferdr (Obelia) i. [@if®fedd (Glochidiom)
c  [EHdl (Unio) i [T (Planula)

D  [§CFFAIY (Balano-glossus) |iv.  [SH1¥AT (Tornaria)

v.  [ERFEFEEHE (Miracidium)
f=ifed ®H T U fadbed GHI DIl & sid B Hel 5ol Uk B 87
1. A-i; B-ii; C-iii; D-v

2. A-iii; B-ii; C-i; D-v

3. A-i;  B-iii; C-ii; D-iv
4, A-ii; B-v; C-iii; D-iv
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Given below are statements regarding apomixis, i.e. asexual reproduction through
seeds

A. Sporophytic apomicts often produce a mix of clonal and sexual progeny

B. In gametophytic apomixis, the unreduced central cell gives rise to apomictic
embryo

C. In pseudogamy the endosperm is formed in the absence of fertilization

D. Apomixis can potentially be used to maintain hybrid vigour over many
generations

Which one of the following options represents the combination of all correct
statements?

1. Aand C
2. BandC
3.Cand D
4 Aand D
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The linkage density in a food web is a function of the connectance and the
number of species in it. It is defined as the average number of feeding links per
species. Which one of the following would have the highest linkage density?

ONC °°eooo
S Y @@

(=)
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8024375247. 3
8024375248. 4

Question Number : 122 Question Id : 8024371312 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1
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8024375246. 2
8024375247. 3
8024375248. 4

Question Number : 123 Question Id : 8024371313 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Ozone concentration in the atmosphere is measured in Dobson units (Du). An
ozone hole is said to have occurred when the concentration of ozone in the
region falls below 220 Du. The diagram of the globe below shows the location of
three study sites. The table below it shows values of ozone concentrations
recorded at the sites for two dates in 2009.

90°N
v
™ L]
C -.-_
29075
S. No.| Recorded Ozone Values
. 30 March 2009 | 30 Sept 2009
i 270 290
i ] 400 240
i _ 450 | 420
v 250 110
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Which one of the following options represents the correct matches between

the study sites and the recorded ozone values?

1. A-i: B-iii and C-iv
2. A-ii: B-iii and C-i
3. A-ii: B-i and C-iv
4, A-i: B-ii and C-iii
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Wﬁmﬁwm{Dr::bson}lﬁl_g[li}u]ﬁqmﬁﬁmw% I
U 91 &l & & eH g o1 FElU @ sl e 9@ 99 & | i &1 9raal
220 Du ¥ Hd =@ 9d & | H Gan T @ &1 7 dF ey el & _HE @
Tl & | 3P A1 B Gl 2009 $T &l fafiaf ® f¥eRad e U siem arsal
& 09 B aXdT 8 |

90 °N
_'1 &
' a
cﬂ.-'_

905

5. No. Recorded Ozone Values
30 March 20089 30 Sept 2009

i 270 290
i 400 240
il 450 420
iv 250 110

=ifed ®H W Ue fdbed g &l qul SiiciRad silel= Jedi & &g &l
el Ba eiaie 7

1. A-i: B-iii and C-iv
2. A-ii: B-iii and C-i
3. A-ii: B-i and C-iv
4, A-i: B-ii and C-iii
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8024375252. 4

Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

A population of crickets invading a new grassland showed a population growth

pattern as shown in the figure

]
]
=
.=
._E Carrying capacity (K)
L=
=]
3 )
| = - .
= -
=
o Tirme -

Following is the list of potential interpretations:

A. Environment is damaged due to population overshooting its K

B. The resources did not recover and population dies out

C. Carrying capacity is lowered due to shift in environmental conditions.

Which one of the following options/combination of options can correctly explain

the cricket growth pattern?

1. A only
2. B only
3. A and C only
4.B and C only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

TP 0 9Oy W g8 3R 6 SR & UB & 9 R ¥ g¥Y T §Ey &
oI S gis e |

8

[as)

5=

% Carrying capacity {(K)
=

-

2

E |~

=

o Tirme -
GHifad faa-me & gl = &

A. SFTEEIT BT 3O K B SHaHHY B & HRU IR/ Taiau  &fausd gl
B. THIEH U: §8Td ol g1 oyl T4 §g ®I U &R 71|

C. aIATaRUY gIeid H [GwuH & SR UleH &Hdl &4 8l 141

DHUYH/BYAl BT DH 9 i 1D f[dddd IR & i WEU &l ¥didar 9 aftfd
HRl 87

1. Had A
2. ®Had B
LATUIC
4. BTUTC
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Question Number : 125 Question Id : 8024371315 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Given below are the spectra of plant forms (on the basis of where the plants bear
their buds) in different biomes (A to C).

L
e % Of the various life forms in the

20 - world for comparison

E _ [ ] %ol the total flora for each plant form
- 11
s %r ||
E i
A S 40} i
g 20t { %
= |
L2 07 g

Phaenoiphytes Hembryptophytes  Thevophytes

80

T

60 |

40 ¢

20 +

~ percent of total flora

1

Phaenorphytes Hemicryptophytes  Therophytes

o]
=]
T

40 -

20

1
percgnt of total flora
|
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© LA 7 1%

Phaenorphytes Hemicryptophytes Therophytes

Which one of the following options correctly identifies the biomes represented in
graphs A to C7?

1. A- Mediterranean; B- Arctic; C-Tropical
2. A- Tropical; B- Desert; C-Temperate

3. A- Tropical; B- Temperate; C-Desert

4. A- Desert; B- Arctic; C- Temperate

fafi= Siia H (A to ) UTGU ¥Uf @I guf-Ue (UIgUfl & S dl & YR & & =IH
TR 1T -id UeH & 741 8|

m % of the various life forms in the

80 L * world for comparison
E - ' | % of the total flora for each plant form
3
2
A S 40}
g 0t .
12 %

Phasmorphytes Hemiboryptophytes  Thevophyies

80 ’»
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s %
2 H g;
i
J % 7
Phaenorphytes Hemicryptophytes  Therophytes
80 +
E
2
s 60
"'5_. —
£ T 40|
: %
g 20} ’é
|| % %
Phaenorphytes Hemicryptophytes Therophytes

il @ 91 U@ [d®cd W% A ¥ ¢ H UGlRid oiaEl @ 9¢iddl 9 UgdH ®dl
87

1. A- YAZEERIG: B- JaiR-4dIT; C-IWIhidty
2. A- SWdHICHHY; B- HEYH; C-Xiidre

3. A- SWdHIcHg; B- WA C- HEYH

4. A- &Y B- Ia-Ydid; C- Ziars
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Given below are growth and survivorship curves.

A Growth curve B Survivorship curve

Carrying capacity

O

Population size

NMumber of survivors

0

Time Percentage of maximum life span

Select the correct combination of growth curves from figure A and survivorship
curves from figure B given above, that would best represent r and K strategies,
respectively.

l.r=aandl;K=bandn
2.r=bandnmK=aandl
3r=aand m:K=bandn
4dr=bandm;K=aandm
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I gfe a1 Saelifad 9@ fRu T 81

A Growth curve B Survivorship curve

Carrying capacity

O

Population size

Mumber of survivors

AV
(5 (0 =

Time Percentage of maximum life span

IWRIad 3G A U 3fS 99 qUT SRW B U Jadeiiiadl db & Geld il Bl g-1d B
il fos s r Ul & Hifadl @1 Saptear T ufaffia o |

l.r=ad¥dlLKk=bdidln
2r=bdiln K=ad¥ll
dr=ad¥dlm K=bddln
4r=bddlm K=adidlm

The following four -:Ilmatc:ugramz depict observation of mean temperature and
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raintall for four locations. | he solid lines depict temperature while the dashed line

depicts rainfall.

[] L+]
N e MMsoo 50 ™M 300
20— 1250  25F 7S 1150
u i 1 | ﬂ I i D
Jan Jul Dec Jan Jul Dec
[+ o
c 40 MMao o 30— ——"™200
/ /
i o, F
L 5} |
y /
20+ _,,/ \ 120 L1 g \.-1100
R — .10 oL - 0
Jan Jul Dec Jan Jul Dec
Given below are five biomes:
. Desert
. Savannah
Ml Tropical rain forest
V. Mediterranean
V. Conifer ecosystem

Which of the following combinations correctly matches the climatograms to

the biomes?

LA-iv B-ii C-i D-v

2.A-v B-iv C-ii D-iii
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3. A-iii B-ii C-i D-iv
4 A-v B-iii C-ii D-i
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frifera TR 9199 i IR &3 & 3igd auEE 9yl 391 & ddie- & c2id § |
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20} 1250 25} }15(}
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c 40 p— 40 30 T~ 200
P /'; L
z"/ .'.- : ..l"'. F f.; ..l“‘.
20F \ {20 15} .~ \,100
i I| ety D | .- i i D
¢ Jan Jul Dec 0 Jan Jul Dec
L AEYH
il 9dr-l
iii. WG caH gui a4
iv. YR
v. g4 TRfRUfa® I<

Fifed ®F U1 U 9199 ToEt &1 ofidm 4 9éiadl U Hd SRl 82

1.A-iv B-ii C-i D-v
2.A-v B-iv C-ii D-iii
3.A-i0i B-ii C-i D-iv

Pl o nam - =
T v W | ) 1y L | | | A |
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Options :

8024375265. 1
8024375266. 2
8024375267. 3
8024375268. 4

Question Number : 128 Question Id : 8024371318 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

A tree built using BLAST cannot be used to infer phylogenetic relationships. Given

this, which of the following statements is NOT true about trees generated by

BLAST?

1. It is based on a distance method, where alignment similarity scores are used to
cluster sequences

2. It is an exhaustive tool where similar sequences are found by locating all
matches between multiple sequences simultaneously.

3. The generated tree is unreliable because the algorithm is data base-
dependent

4. It is built by first performance seeding following local alignments.
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BLAST @I SUTRT e §1A1 7141 9&f Siidgaiid Yatid Ulfad $ & i 3ugiT o
eI 1l &l Yool & | SUP! ¢Wd gU BLAST &I UGN b &0 71 g&f o oM o
®IF U1 Y ol el o7

1. 98 U g31 Ugld R 3M1e1d &, Sgil i Uau eyl 3id & I bl
@ GHEES D H [T S g |

2. U8 U 9% WY § Sel Y9 34l &l Uh 1Y dgd 3hdl & dig o gt
Tl &l WiedR ™IUd fedr | g |

3. ST 1T 98 HfGRag-iia gidl & Fifds e fafdl (algorithm) sl ®IY-3M1f3d
BT |

4. T Ugd oA-Fmied divaud fth @ifHe T30 I dR gl ¢ |
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Given below are names of scientists and phrases describing their work, which may
or may not be matched

Name of Scientist Woaork
i Wallace 4. |Inheritance of acquired characters
i (Lyell B. |Natural selection is differential survival or

reproduction

iii [Lamark C. |Processes that alter the earth are uniform through
time
v [Cuvier D. |Earth’'s geology and natural history have been

shaped by periods of catastrophic extinction and
new creations

E. |Ontogeny recapitulates phylogeny

Which one of the following options represents correct matches between the
scientist and his/her work?

1.i- A& ii-B; ii-Civ- E
2. i- B; ii- C; iii- Ay iv- D
3i-& ii-C iii-Eiv-B
4.i-E ii- D; iii- A iv- C
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8024375274. 2
8024375275.3
8024375276. 4

Question Number : 129 Question Id : 8024371319 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

4 371 & 9 YT 3 Bl B aivld PRd A U e S fe Aa H gl an
Tel i gl Ohd © |

SR® & A e
i aTcy ( Wallace) A.  [3uiford e &t d=mfa

i s (Lyell) B. [WIPidd a0 fddhd Jwiwiligdl YTl S+
g

i |G (Lamark) C. |99 SREIUF Ul H 9&ad O drel
HIA suiad =i g |

iv [T (Cuvier) D. |g%l &1 Ydd dul Widbiad sider™ fam=en]

im0 auT =1 go-l & @Al gRI el
T |

£, [fgagd wifdde @1 TRIgh @dl &
ifa ®H 91 U [adhed dei-d adl 390 BRI Bl Jel Hol UKqd dl 87

T.i- A; ii-B; iii-C;iv- E
2.i-B; ii-C; iii- A;iv-D
3.i-A; ii-C iii-E iv-B
4.i- E ii- D; iii- A; iv- C
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8024375273. 1
8024375274.2
8024375275. 3
8024375276. 4

Question Number : 130 Question Id : 8024371320 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

In a population that is in a Hardy-Weinberg equilibrium, 40% of the plants are

recessive homozygotes and produce white flowers (WF). If the total number of

individuals in the population is 14000 plants, the numbers of homozygous

dominant red flowered (RF) plants and heterozygous pink flowered (PF) plants

would be:

1. RF- 5600 PF- 1891
2. RF- 1891 PF- 6508
3. RF- 5600 PF- 6508
4. RF- 5145 PF- 8855
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s SA4E o o for gifs-fa-ast araraeyr o 8, 40% Uit S{yyTd] QUi Haw]]
H § aUl g U (Wr) IdIGd ®d ¢ | g SH5%T | Silal ®1 od =1 14000

qref Bt df gugre wyrd! ord gftrd (RF) Qe aur faumgrsh et gitad (e qef
Efﬁ'ﬂ@T?ﬁ?ﬂ

1. RF- 5600 PF- 1891
2. RF- 1891 PF- 6508
3. RF- 5600 PF- 6508
4. RF- 5145 PF- 8855

You wanted to conduct Miller-Urey experiment and used a simplified apparatus
with Tungsten electrodes. You heated the glassware at 500°C for 3 hours to
remove any organic contaminants. Gases NHz, CH,4, CO and H; were introduced
followed by generating electric spark. Which of the essential ingredients did you
forget to add?

1. O3

2. H:0O
3. HCN
4. CHO
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8024375283. 3
8024375284. 4

Question Number : 131 Question Id : 8024371321 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

HIY TR (Miller-Urey) TR &A1 dls dY1 ¢eA fdggdey ¥ & Tiaidpd

IUEHR0 H SUTFT 611 HUH Bid & da-1 4 frdl i Freie dgud! ol geH

& foTT 500°C TR 3 90¢ & forw 71 fhaT1 NHa3, CHy, CO TUT Ho 7101 &I Ua= &Rl

a1 fih? fagydia Spic 3= fargr 1| 3 &9 91 U HAHaWed ged B

EIEEIEGRICE

1. O3

2. H:0O
3. HCN
4. CHO
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Given below are the few statements on concepts related to genome evolution.

A. Presence of introns in some chloroplast genes suggests that endosymbiosis
(leading to organelle evolution) occurred before loss of introns in prokaryotes
and supports the hypothesis that genes originated as interrupted structures.

B. Negative selection is associated with increased rate of NONsynonymous
substitutions as compared to synonymous substitutions.

C. Nucleotide substitution rates during evolution can be inferred from divergence
of the sequences that are non- functional or neutral.

D. Positive selection is associated with increased rate of NONSyNonNymMous
substitutions as compared to synonymous substitutions.

Which one of the following options represents a combination of all INCORRECT

statements?

1. A and C only
2. B and C only
3. A and B only
4. Cand D only
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Yol Hiad [GHrg DI SEURU & o H $8 $Y 4 IRgd U 1 § |

A. DS eRddd® Sl H 3¢ &I Jufyfd ukaifadd sidli s fd  siq-ggsiiad (3|
& If® [y @I Ufquiied & dian)  WdbRale! § 3<Hl & dld giH 4 Ugd
B 7T U1 YT 39 @YU &1 94 $d & ol §didl & (b oAl B I HH-HiT
g1 o g3 |
B. e ® U gaEId® A=Al ®] ga-l § SOl ® ®FEY-dl & §9¢ gu
X g GEEd E |

C. HIU® [GEHY & GRH Goadiess Rl & & smai o & 3i&m
YTl e §, 30 [aga J URNd far s 9edl - © |

D. YHRIAS a0 YHHIS RIFEG-Tdl & goHl H SgaFds ®IHEU-Idl & g6 gu
X H I GEHa e |
fFeifed & U1 U fadbed gt Tad &yl & Hd @l eXidl 67

1. PaA A TUIC
2. HAAB TAUTC
3. Had ATUTE
4. HaA CAUID
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Growth patterns of two species (grown alone or together) are shown in Figures A

and B.
A B 100
100 — Species 1
g0 - = Species 2
50
0
0
=~ 100 g 100
E T s T
— — I
S 50 ¥ S 50 /
= — '
= r =3 ’
= ’f [=S .’g
0 -'J 0 =~
100 100
50
0 -~ |
Time lda:si Time{gpl

Match the growth patterns with the correct type of interaction represented by

them

1. A-mutualism, B-commensalism

2. A-competition, B-parasitism

3. A-commensalism, B-mutualism

4. A-competition, B-resource partitioning
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Question Number : 133 Question Id : 8024371323 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1
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Species 1

== Species?

b gRT Wd dls WEU & 91y Yeld UhR & URWRS fohdl &l Hel sH1gU|
1. A-HeIT@HINd], B-FeHiordm

2. A-UfqaifiTa, g-geifaar

3. A-ggHifordl, B-HeadI1idl

4. A-UfiTE, B-HreE FyeH
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8024375292. 4

Question Number : 134 Question Id : 8024371324 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1
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A group of researchers are testing two new agents, M1 and M2 for their efficacy
in selecting transgenic plants. When they performed tissue culture experiments
using three explants, A, B, and C without Agrobacterium transformation, and
selected the regenerated plants on M1 and M2, the following regene-ration
frequencies were obtained.

Regeneration frequencies (%) in presence
of different concentration of agents
Explant M1 conc. (mg/L) M2 conc. (mg/L)

type

20 60 100 10 15 | 20

A 44% | 21% Nil 8% Nil | Nil

B 93% | 30% | 10% Nil Nil | Nil

C 1% |142% | 18% | 15% | 9% | 4%

Based on the above data, which one of the following conclusions is INCORRECT?

1. M2 is a stronger selection agent than M1 for explant types A and B.

2. A concentration of 100 mg/L of M1 and 15 mg/L of M2 can be used for
selection of transformed cells using explant type A.

3. Among the three explants, type C is least suitable at the tested concentrations
of M1 and M2

4. Use of M1 with explant type B is the most ideal combination for selection of
transformants.
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8024375295. 3
8024375296. 4

Question Number : 134 Question Id : 8024371324 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1
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HdUD| D1 TP G &l 49 Ga1dl M1 941 M2 @I RS Urel & g1 H 391 &5l
@1 Gi& @ 3§ & | 99 d diH ddiddl (explants) A, B, U C &I IYGNT faq
UGIaIFERYH (Agrobacterium) TURU & Hdd Yau- TG & U faar au1 m1

Td M2 R H3dIed Uyt @1 9419 fodr df FAEifed gH3deT IRaRdl Wi fhu
T |

Ul & A= grsdl o Iuifd § gH3ameH
IRERAT (%)

FAAD UBR M1 Tl (mg/L) M2 Tl (mg/L)

20 60 100 | 10 | 15 | 20
A 44% | 21% | 9 | 8% | U | LI
B 53% | 30% | 10% | ¥ | T | I
C 71% | 42% | 18% | 15% | 9% | 4%

IRIEd A d3l & AYR W, AEied S T TS HHH Ted & ?

1. Ddid® YHR A TYT1B & [ M1 &I Ta1 § M2 T WHEGIel  99i-d1 9ard B
2. Bdidd UBR A BT JUGRT BId L M1 B 100 mg/L FiFsdl 94T M2 B 15 mg/L

Hlsill ©URIRG BIRID131 & 19 o (o [l o bl g |
3. WH didel & §id, M1 T4 M2 & URIET Frsdisl W ¢ UHR J4H 3 ©

|
4. YRG! & 9419 & AT M1 &1 Sdidd UHR B & 1Y ITERT a4 HGE]
OB |
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Question Number : 135 Question Id : 8024371325 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

RNA silencing is an important strategy to control viral infection in plants. The
following statements were made regarding RNA silencing.

A It is driven by small interfering RNA (siRNA) derived from double-stranded
form of viral RNA.

B. siRNA requires RISC for it function.

C. Many plant viruses encode proteins that act as suppressors of RNA silencing.

D. Viral P19 protein activates RNA induced silencing complex.

Which one of the following combination of statements is correct?

1. A Band C
2B CandD
3.ACand D
4 A BandD

www.FirstRanker.com
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qref F faumuEfad deau o f[g-a0 o o Rna FRIA®H0 U deayul gfdd B |
RNA FRG®ER0 & ggH & = Sy g9 Y |

A. T% QU] RNA & fE-3oa® a1 ¥ Tfdiiad 0Y/9&H & & ard RNA
(siRNA) T TIfad BT § |

B. siRNA @I 30+ &1 & [o1U RISC B Ta=GHdl gidl & |

C. 3+ UIGY fauIu[e UidiHl &1 e didl ¢ ol i RNA FRfadur (A1 & o
& Bd g

D. faumg] P19 Ui RvA TR FRfadsor afftry of Ofby odi @ |

Bl BT F=ifed ®H 91 U6 0d Hel o7

1A BTOYIC
2.B,CdyID
3.A,CdYID
4 A BdYID
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One curie (Ci) is defined as the quantity of radioactive substance having a decay
rate of 2.22 X 10'? disintegrations per minute (dpm). How much of counts per
minute (cpm) will be recorded for 100 uCi of 3P when measured in a scintillation
counter working at 50% efficiency?

1.1.11 X 108
2.1.11 X 108
3.2.22 X108
4,222 X108

s TR (ci) B Wsarawi gard forgeT &3 & 2.22 x 102 faue ufd ff9e (dpm) &,
& o1 ORI fasam SIar 81 100 pci 32p & fba- UM Ufd fiHE (cpm) SifHcaRad
T ST Tfg ST A9 50% HIAEH U B B4 a1 U TR0 076 | foba
7

1.1.11 X 108
2.1.11 X 100
3.222X10°
4,222 %10°
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Question Number : 137 Question Id : 8024371327 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Given below are a few statements related to plant breeding and genetics:

A. Non-random mating between individuals closely related to each other would
tend to promote a decrease in homozygosity at all loci.

B. Quantitative traits are typically influenced by environmental  conditions to a
greater extent than qualitative traits.

C. The “over dominance” theory for explanation of heterosis assumes that in a
heterozygote, only one of the alleles plays a functional role.

D. During domestication selected genes/traits show a decrease in diversity.

Which one of the following options represents a combination of all INCORRECT

statements?

1. A and D only
2B CandD

3. A and C only
4. B and D only
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i @ DU ey Yol ayl SdRie! & YeH § fear g

A. U g O "feedl I Jefid Udhs! & dig mefsd e qui fawdl )
YA & &RUI & HH B § Gedd aid 5|

B. URumHTd® fafRmedy unars fafmedre @ ga1 ¥ UrEddadr ararulig
uRfRfaal O st guiiad gid

C. Yheaiiel o ARl & AT 3ifd yuafddr e 98 IRaiddd ddi & & e
faoagE o dad Us gl Pofadad Sids YHe! el oidl ol

D. TRE@R (domestication) B GRIF gi-ial wi-/fafredy fafdsar & @i giidi 81

i d ®F U1 te fadhed 9 Ted &Y=l & 0d I Gidl 87

1. &ad A TUT D
2.B,CAYUID

3. HAAATUIC
4, Had B AU D
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Given below are a few terms in column A and column B.

Column A Column B
A, |Cisgenics (i) Synteny studies
B. [Zinc-finger proteins (i) Linkage disequilibrium
C. |Comparative genomics  ((iii) Site-specific recombination
D. |Association mapping (iv) Use of endogenous plant genes
and regulatory elements

Which one of the following options represents all correct matches between terms
of Column A and Column B?

1. A- iv; B-iii; C-i; D-ii
2 A-i0i B-i: C-iv: D-ii
3. A-ii; B-iii; C-iv; D-1i
4 A- i B-iv; C- iz D-iii

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

A DT A 3R ®lad B T $ eq/uRymT fGuu g

PIad A ®IcH B
PN fereciErs e (i) et S
B. |[No-fhRudH (i) |[HETEdl SErEe]

C. |[JaTHD HelliHet (i)  [RIcI-fafRrse gdieE

D. |[gEdY® FRET (v)  |Sidord grgy Sl au FaEs
3aaal &1 U

Feifed ¥ ¥ &1 91 U@ [ddhcd BIaq A JUT HIAH B & 8id & Teg! /GHTEISH B
i Ul Hel URgd Bl 82

1. A- iv; B-iii; C-i; D-ii
2 A-i0i B-i: C-iv: D-ii
3. A-ii; B-iii; C-iv; D-1i
4 A- i B-iv; C- iz D-iii

Following are the typical dot plots of cytometric data obtained from peripheral
white bloed cells:

PLOT 1 www.FirstRaR¥8rcom
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10°
250 = - - - e "
2 1 ol R
.y o ‘]_ﬂ:'_ L e e w
200 wifis, & . Ay
LR .."I (] il. . ‘.._..T;"
"E'I' 150 = t'l; 1-:.3' - "?;'1."."
% e |2 Ee] [
100 piv’ ik D
) ~ AN PR
_ . 107 A, '
50 . ¥ .3;';'_‘?; s ."h-‘ .
- " B
o ] | | ] ] L I
0 50 100 150 200 250 107 10! 10t 108
FSC-H FITC — anti CD8

R1 in plot 1 shows the selection window of cells which were further
analysed based on immunostaining (plot 2). Analyze the given data and choose
the correct option representing the type of cell population in plot 1 selected and
segregated in various quadrants of plot 2.

1. Plot 1= lymphocytes; Plot 2 — (A) CD4™ CD8"

(B) CD4 CD8* (C) CD4°CD§ (D) CD4* CD8*
2. Plot 1— neutrophils; Plot 2 — (A) CD4™ CD&”

(B) CD4” CD8* (C) CD4* CD& (D) CD& CD4
3. Plot 1— lymphocytes; Plot 2 -+ (A) CD8™ CD4

(B) CD4* CD8 (C) CD4  CD8* (D) CD& CD4*
4. Plot 1= lymphocytes; Plot 2 = (A) CD4™ CD8~

(B) CD4” CD8* (C) CD4* CD& (D) CD8* CD4"

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Options :

8024375313. 1
8024375314.2
8024375315. 3
8024375316. 4

Question Number : 139 Question Id : 8024371329 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

i uftdig 2dd Yad i@l § Ui ggeiid sidbs! o UEts fdg siod
fean mar g

PLOT 1 PLOT 2
10!
250 . .ar
T oagie * L
i T .'. -t 10.’_ . & :.-‘.',..'..
o .-.'*“"!.f.' = L3 W I R r",-
¥ 1504 et 3 A = AL
i s Tt —+C et
e li s 10 ] i
a R1 *Mjtee, | c o t*
100 e ¥ i
: 5 =8 ) 2 . 1-*.' ,,: ¥ 1
o] . 10 27 [ 39
l'&'ﬁ l'!: = e “;‘. ¥o ¥
] L] I ] | | T ]
0 50 100 150 200 250 10 S Ts L TS T
FSC-H FITC = anti CDE

TG 1 H R1 G DI BT 98 Ta1e GRNidl & foraT e 9 UioRa SitRe
JeTRa fazcyr faean T (3ieE 2) | 6T 7T s s &1 f9gayu & gyl 3ieg 1 |
DI THE & TBHR aYl e 2 & [afi= gqufal # 9= 70 aul gyamd! ®f a2
ardl Tel fdded &1 g1 B3

1. Plot 1—s TUIGIBIRISE Plot 2 —s (A) CD4~ CD8-

(B m"NA— o+ Yy rnaAtr-rno— (M ernadat Aot
T T GO T LT GO LT GO

2. Plot 1 — =a&iTthed ; Plot 2 - hw(EHTREMGT.com
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Gt e e —= - - =

(B) CD4-CD8* (C)CD4A*CD8~ (D) CD8~ CD4~
3.. Plot 1 GUIBIPIRIG Plot 2 » (A) CD8* CD4-

(B) CD4*CD8~ (C) CD4~CD8* (D) CD8~ CD4*

4. Plot 1 - TEIBIBIRIDT Plot 2 — (A) CD4~- CD8*

(B) CD4~ CD8* (C)CD4* CD8~ (D) CD8*CD4~

www.FirstRanker.com

The data from an S1 nuclease mapping experiment for a transcript mfg7 using a

5'-end labelled probe are shown below.

Marker Probe Liver Kidney
P
750 —
500 — — —
250 A—
www.FirstRanker.com
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1| — —

50 S—

Following interpretations were made:
A. The liver RNA is 500 bp in length

B. The start site of the liver mfg1 transcript is 500 bp downstream of the 5" end of
probe.

C. The kidney makes two mfg1 transcripts, and the 3" end of one of these is
shorter than the other.

Which one of the following options represents the correct combination of the
interpretations?

1.A, Band C

2. A and C only
3.B and C only
4. B only

www.FirstRanker.com
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s 5-8R fafed Judlaid (probe) &1 Ud Ufafafl mfg1 & fau IUTRT &b S1
fFTUS AT U & U Sids ol e gxiiar T g

730

230

150

100

50

= fgagam &9 T

Marker

Probe

Liver

Kidney

 —

A. Tdhd (liver) RNA didlg H 500 bp B
B. TPhd mfg1 UfAfciy &I SRH VI YUdiaid & 5 SR & 500 bp 3IUdIE

C. TP (kidney) &l mfg 1 U &9 &, T 76 ¥ U @1 3* BR WX 4 BT g
fFifd H 8 ®H 91 o fadey f[adg-reli & Geid Hel &l GxIidl &7

1A B dUlC

2. Hhad A TUTC
3. Had B aurc
4. Hdd B
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8024375320. 4

Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Given below is a schematic representation of a few restriction sites in the multiple
cloning site of a plasmid:

| I l | L
U | | I I

Hindlll Xhol Smal Pstl

The recognition sequences of the above enzymes and their digestion patterns
are shown below:

Hindill : A'AGCTT Smal : CCC'GGG
TTCG Alﬁ. GGG ‘CEE

Xhol : C'TCGAG Pstl: C'TGCAG
GAGCT l{: GACGT lC

Which one of the following combinations of enzymes from the vector can be used
for cloning a DNA fragment obtained as a Sal | (GWTCGAC) - Hind Il (GTYWRAC)

fragment.

1. Sma | - Hind |l
2. Xho| - Pstl

3. Xho!l-5mal
4. Hind Il - Pst |

www.FirstRanker.com
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8024375321. 1
8024375322.2
8024375323.3
8024375324. 4

Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

% WIfGHS (UGod) & ggd daHd d & oo WidaH =l &l i RRad o
RIEs | %:

| I— l | L1
U | | I I

Hindlll Xhol Smal Pstl

SWRIad USTgH! & UgdH Al adl 3-h Urd- UidHH &I - SR T g -

Hindlll : A‘AGCTT Smal : CCC‘GGG
TTCG Alﬂ GGG lCEE

Xhol : C'TCGAG Pstl: C'TGCAG
GAGCT lC GACGT lC

T® Sal | (GYTCGAC) - Hind Il (GTYWRAC) WS oI UTd DNA TS &I &IH &+ &
foTy Hae® | TogAl & ®F 91 9 e fHam SugeT & a1 ol 96dl 67

1. Sma | - Hind Il
2. Xho | - Pstl

3. Xho!-Smal
4, Hind Il - Pst |

www.FirstRanker.com
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8024375322.2
8024375323.3
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Question Number : 142 Question Id : 8024371332 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 4 Wrong Marks : 1

Given below is a schematic representation of the T-DNA region of a transgene
construct and the Southern blot analysis (using Pst | digested genomic DNA) of
five independent transgenic lines (labelled as A to E) developed using the
construct. The probe used for hybridization is shown as a black box below the
construct (UT: Untransformed Plant)

Pstl  Pstl
|> [ | T l}
LB Promoter  Gene pA RB
I

TV BT S TR ATTRET-COM
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Based on the above data, which one of the following options gives the correct list

of single insertion transgenic events?

1. B and C only

2. A, B and E only
3. A and B only
4. E only

www.FirstRanker.com
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I U@ RS FH0 @1 T-DNA &F 9UT 39 FEfu @1 Iugh axe [deiid e e
Ui W9ad URIH! a9 (A ¥ E oY A1) &1 96+ ile [aReyl (Pst | TTRId Hei]
DNA &1 30N &) &1 AW Uiy f&a1 141 5| eRfgegegd & fou Sugh o
T 01 SRiEd &1 0 & A U% HIal Bt ol G211 T/ & (UT: SFEarid
are)

P [ 1 I 1 F

LB Promoter Gene pA RB
I
utr A B G b E

I — ) — | —y S— [ _—

SWRIad HHsl & AUR R, HHiHd ®F 9 U6 [dHcd Thd UagH IR
gl & Yeid il UeH dil 67

1. Had B AU C
2. HAA A BAUTE
3. @ad A TUTB
4. HAAE

www.FirstRanker.com
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Question Number : 143 Question Id : 8024371333 Question Type : MCQ Option Shuffling
Correct Marks : 4 Wrong Marks : 1

Given below are the restriction profiles obtained upon digestion of a 4.8 kb
plasmid with four different enzymes (E4, Ez, E3 and Ey).

i :  48kb E+E; = 500bp + 43kb
E;, :  A48kb E+E; = 400bp + 44kb
B 48kb E3+Es = 2kb + 28kb
E, : 48kb E+E; = 19kb + 29kb

Based on the above information, which one of the following statements is correct?

1. E1 and E4 have two recognition sites each in the plasmid.

2. E; recognition sequence is located between E; and E;,

3. The sequence of recognition sites after digestion of the plasmid with Ez is: E4-
Ea-E4,

4. The sequence of recognition sites after digestion of the plasmid with E; is: E+-
Ea By

: No Is Question

www.FirstRanker.com
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U 4.8 kb TWICHS (W5ed) 1 91 fafi— USsal (£, E5, E; IYT E,) ¥ U & SWI

T Uide=H @il -id UgH faar a1 g1

E; :  48kb  E;+E; = 500bp +
E;, :  48kb  E;+E; = 400bp +
E3 : 48kb  E3+Es =  2kb +
Es : 48kb  E+Es = 19kb +

43 kb

44 kb

2.8 kb

2.9 kb

IWRIad Go-T & YR TR, (F=ifed 1 I U $Y- Tal 67

RIS ER E,dUTEy ';I_cafﬁ$atlﬁa1:f@lﬁ (recognition sites) %![
2. B, UgdH Y £, dUI E; & oI § 3afd 5|

3. WS @I E; U U & U<did UgdH Tl & BH: E4-E».F &
4, TISHE @1 E, U UTEH & URdld UgdH ©dl &1 $H: E1-E3.E; B
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The 'H NMR spectrum of 13CH;Cl in CDCl3 shows two lines (doublet, 1:1 intensity)
spaced 140 Hz apart. The carbon (**C) NMR spectrum of the same molecule

shows four lines (quartet, intensity ratio 1:3:3:1). Both 'H and '3C have nuclear
spin quantum numbers | = 1/2.

Based on the above information which one of the following options is
correct?

1. The multiplicity pattern observed follows the 2n/+1 rule.

2. The H-13C coupling constant is different in the 'TH  (Proton)  and '3C
(Carbon) spectra.

3. The multiplicity patterns are a consequence of the difference in
gyromagnetic ratios of the 'H and '3C nuclear spins.

4. The multiplicity patterns are dependent on the Larmor precessional
frequencies.

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

3CH;Cl @1 CDCl; B H NMR TUBH 140 Hz B 3 IR faaia &l @ (50, 11
el T=ia & 1 391 3] @1 DI (13C) NMR JUIshH IR @MU GRMidl & (I8, dladl
SFIUIT 1:3:3:1). 'H T 3¢ GHI T AIf@T yewur gee = 1/, &1 9w
Ya-1 & YR R HH1dbd S 11 U fddbed el 87

1. 51 T 9gad] T9& Y 2n/+1 190 &1 UreH axal g |

2. TH-13¢ Yieie RIS 'H @ieH) auT 3¢ (@) Wael | i+ 81

3. dgadl ey 'H aun 3¢ & A1 Uah Ul & guidadid sHurdl H <R &1 Uh
gRuTH B

4. dgaidl T TR (Larmor) REERUT SHIGRAT U Hdafad gidi ol

www.FirstRanker.com
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Given below are a few statistical terms in Column A and their related features
and terms in Column B.

Column A Column B
A. | Standard (i) Measure of relative variability
deviation of given populations.
B. | Coefficient (i) Used to make inferences
of Variation about population means.
C. | Chi-square (i) | Positive square root of
test population variance.
D. | t-Test (iv) | Test hypothesis related to
categorical data from
inheritance studies.

Which one of the options given below correctly matches all items of Columns A
and B?

T.A-iv,B-iii, C-ii,D-i
2.A-ii,B-iv,C-iD-iii
3.A-ii,B-i,C-iv,D-ii
4 A-i0i,B-i, C-iv, D -iii
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i ®iaH A H 9o IiRgs Teaidct dul 394 Ydftd fagman ud regafedi
®icH B H UgH foT 14 B

DITHA  [PIcH B
AFFED i G T SEEel @1 Joree URaaHRITedl o
[CERE] GIRHATOT, HTH T |

B.fgeRur i, SHE Al & §R H ey Mdie & ol T
Tulich fobar Sran 81

g'ﬁ?ﬂg'ﬁ iii. ST URad-iadl & YHTE® & gd|
D. t- iv. JRITHH ST | U S0fl 1d SHidhs! & S{quRuT &

BRilaL] T80T 8 Hafd|

fifed O U @19 U1 U [ddhed DT A U1 B & [dudl & Gélod U gaferd ol
87

T.A-iv,B-iii,C-ii,D-i
2A-ii,B-iv,C-iD-iii
3.A-ii,B-i,C-iv,D-ii
4 A-i0i,B-i, C-iv, D -iii
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